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TEST FORM NUMBER INSTRUCTIONS TO CANDIDATE Maximum Marks: 150
Total Questions: 150

Time Allowed: 150 Min.

Read the following instructions carefully before you begin to attempt the questions.

(1) This booklet contains 150 questions in all comprising the following five parts.

Part-(I): Child Development & Pedagogy (30 Questions)

Part-(Il): Language | (English Language) (30 Questions)

Part-(lll): Language Il (Hindi Language) (30 Questions)

Part-(IV): Mathematics and Science (for Mathematics and Science teacher) (60 Questions)
OR

Part-(V): Social Studies/Social Science (for Social Studies/Social Science teacher) (60 Questions)

(2) All the questions are compulsory and carry equal marks.

(3) Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

(4) Each carrying one mark and there will be no negative marking.

(5) You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll
number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

(6) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by pencil or Black/Blue ball pen only.

(7) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

(8) The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

(9) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy.
Do not spend too much time on any question.

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means
in the examination and action will be taken against them including cancellation of their candidature.

(12) No rough work is to be done on the Answer-Sheet.

(13) No candidate can leave the examination hall before completion of the exam.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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Part-(1): Child Development & Pedagog

Which one of the following is not related to learning:-
(A) learning is inalienable

(B) rate of learning differs from person to person

(C) learning is creative

(D) learning is an active process

Intelligence is related to: -
(A) divergent thinking
(C) abstract thinking

(B) convergent thinking
(D) concrete thinking

What do you mean by multicultural class —
(A) Where more focus is on learning

(B) Religious material is given to be read
(C) Curriculum is followed strictly

(D) Value of diversity and tolerance is taught

Which of the following statements about emotions is
correct?

(A) Emotions exist in every living organism

(B) Emotions are not individualistic, and they are same
from person to person.

(C) Emotions are present at all stages of development
and can be aroused in young as well as in old

(D) One emotions can give birth to a number of likewise
emotions

Which component of cognition allows us to organise
and understand the world through stimuli that we
receive from our different senses, like sight, hearing,
smell etc.

(A) Attention
(C) Perception

(B) Thought
(D) Language

Which one of the following statement is not true
regarding motivation?

(A) Motivation directs behaviour towards particular goal
(B) Motivation decreases initiation of, and persistence
in, activities

(C) Motivation often enhances performance

(D) Motivation affects cognitive processes

The understanding that another viewpoint for a
particular thing or situation can also exist, develops at
which stage?

(A) Early childhood
(C) Infancy

(B) Middle childhood
(D) Adulthood

Multiple pedagogical techniques, assorted learning
material, multiple assessment techniques and varying
the complexity and nature of the content are associated
with which of the following?

(A) Remedial teaching

(B) Universal design for learning

(C) Differentiated instruction

(D) Reciprocal teaching

If a child fails what it indicates:

(A) Child has not done study

(B) System has failed

(C) Child should learn anywhere else too
(D) Refer the child to a special school

Factors contributing to learning process is
(A) Experience (B) Environment
(C) Discipline (D) All of the above

If a school has a gender-biased curriculum is causes-
(A) Equality (B) Discrimination
(C) Socialisation (D) All of the above
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According to Gardner’s theory of multiple intelligence,
which one of the following intelligence expected for
Athletes.

(A) Linguistic
(C) Naturalist

(B) Interpersonal
(D) Bodily-Kinesthetics

Which of the following statement is true regarding
Assessment for learning.

(A) It is also known as Summative Assessment

(B) The teacher assesses a student based on his
performance in comparison to other

(C) The teacher assesses the students based on the
information given in the textbooks

(D) All of these

Which one of the following is not related to the
continuous and comprehensive evaluation?

(A) To provide scope for self-evaluation.

(B) To make evaluation a supplementary part of
teaching learning process

(C) To maintain desired standard of attainment.

(D) To use evaluation for improvement of student’s
achievement through diagnosis and remediation

Which statement is true regarding Gifted children?
(A) They are divergent thinkers

(B) They are convergent thinkers

(C) They are extroverts

(D) They are lazy

A good teacher in a Classroom, where students come
from Socio economically disadvantaged back grounds,
would?

(A) discourage the use of their language so that they
learn the mainstream language

(B) focus on their cultural knowledge to address
individual differences

(C) give them the responsibility of teaching other junior
children

(D) ignore cultural knowledge and treat all his students
in a uniform manner

Teacher can change the learning environment in the
classroom to address gifted and talented students by: -
(A) Reprimanding them often for being restless

(B) Using activities that students can complete with full
supervision.

(C) choosing what they want to work on at least part of
the time

(D) All of these.

Being a teacher you always focuses on following a
pattern in your class while making the learners to
understand and learn the concepts i.e., to remember,
understand, apply, analyze, evaluate, creates. Which
domain of Bloom's taxonomy do you follow?

(A) The affective domain

(B) The cognitive domain

(C) The psychomotor domain

(D) None of these

Mobility and Orientation training is associated with-
(A) Students with hearing impairment

(B) Students with mental retardation

(C) Students with visual impairment

(D) Students with learning disability

Divergent thinking is associated with —
(A) slow learners (B) talented children
(C) creative children (D) underachievers

authority of course is not that of an autocratic

strategy but of a leader friend and a guide:
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(A) Family
(C) Teacher

(B) Students
(D) None of these

Emotions are needed for-
(A) Adaptation
(C) Expressions

(B) Communication
(D) All of the above

Semantics is the study of-

(A) Sounds of a language

(B) Words and their meaning

(C) How people use language to communicate
(D) Rules of how to use language

The Threshold Concept applies to which relationship?
(A) Intelligence and Empathy

(B) Intelligence and Achievement

(C) Creativity and Intelligence

(D) Achievement and Ability

From below the feeling, which is the best suitable for an
adolescence’s experience —

(A) Knowing the reality of life

(B) Anxiety about self

(C) Self-actualization

(D) Feeling of fear

In a multiple-choice question. You have four possible
answers but only one is right. In order to solve the
problem, you would use which type of thinking.

(A) Convergent thinking (B) Divergent thinking

(C) Critical thinking (D) Concrete thinking

Recapitulation is important because —

(A) It establishes relationship between previous
knowledge and new knowledge

(B) It is good way to summarise a lesson in the class
(C) It makes learners more intelligent

(D) It is easy for a teacher to begin the class

Which of the following statement is true regarding
Emotion?

(A) Emotions and thinking are directly related

(B) Emotions bring about certain external changes
which can be seen by other.

(C) Emotions are complex and have only physical
components

(D) Fear is not an Emotion

The word ‘compulsory’ in the Right of Children to free
and Compulsory Education Act, 2009, means?

(A) parents are compulsorily forced to send their
children to school to avoid punitive action

(B) appropriate government will ensure admission,
attendance and completion of elementary education

(C) the central government will ensure admission,
attendance and completion of elementary education

(D) compulsory education will be imparted through
continuous testing

Bandura’s observational learning emphasizes on —
(A) Change in behaviour due to conditioning

(B) Punishments and rewards

(C) Progress of limitation and modeling

(D) Transmission on social expectation

English Languag

The Right of Children to Free and Compulsory
Education Act, 2009 has included ‘all round
development of the child as one of the aims of
education because.

(A) every child grows rapidly between six to fourteen
years

(B) proper health care is essential
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(C) it nurtures the physical, mental an devotional
aspects of the child
(D) it ensures that every child is a part of a workforce

Linguistic principles of English language include
(A) Principle of naturalness

(B) Principle of habit formation

(C) Principle of oral-approach

(D) All of these

Which one of the following should not be done while
helping pupils with learning difficulties?

(A) Teachers must keep in close contact with other
teacher to discuss to improve pupils’ learning behavior
(B) Teacher should provide home tuitions

(C) Teacher have to explain to the parents about the
characteristics and abilities of pupils

(D) Teacher should assess the progress the pupils
regularly and systematically

One of the tasks of the teacher in Communicative
Language Teaching is to.

(A) collect information about the social background of
the

(B) determine the language needs of the learners

(C) provide suitable classrooms to the learners

(D) send progress reports to the learners' parents

Kindergarten method of teaching writing was developed

by .
(A) Froebel (B) Horsebug
(C) Plato (D) Aristotle

Direction (36-44) Read the following passage and answer

the questions that follow. Some words are highlighted
to help you answer some of the questions.

You would have noticed that people have different
ideas about what politics is. Political leaders, and
persons who contest elections and hold political office,
may argue that it is a kind of public service. Some
others associate politics with manipulation and intrigue
undertaken to pursue ambitions and satisfy wants. A
few thinks of politics as what politicians do. If they see
politicians defecting from parties, making false
promises and tall claims, manipulating different
sections, pursuing personal or group interests ruthlessly
and in worst cases stooping to crime, they link politics
with ‘scams’. So prevalent is this way of thinking that
when we see people in different walks of life trying to
promote their interests by any means possible, we say
they are playing politics. If we see a cricketer
manipulating to stay in the team, or a fellow student
trying to use his father’'s position, or a colleague in
office mindlessly agreeing with the boss, we say he or
she is playing ‘dirty’ politics. Disillusioned by such
pursuits of selfishness we despair of politics. We say, “I
am not interested in politics” or “I am going to stay away
from politics”. It is not only ordinary people who despair
of politics; even businessmen and entrepreneurs
routinely blame politics for their woes even as they
benefit from and fund various political parties. Cinema
stars also complain of politics though they seem to be
adept at the game once they join it.

It is unfortunate that politics has come to be associated
with the pursuit of self-interest by any and every
method. We need to realise that politics is an important
and integral part of any society. Mahatma

Gandhi once observed that politics envelops us like the
coils of a snake and there is no other way out but to
wrestle with it. No society can exist without some form
of political organisation and collective decision making.
A society that wants to sustain itself needs to consider
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the multiple needs and interests of its members.
Several social institutions such as the family, tribes and
economic institutions, have emerged to help people
fulfil their needs and aspirations. Such institutions help
us find ways of living together acknowledging our
obligations to each other. Among such institutions,
governments play an important part. How governments
are formed and how they function is thus an important
focus of politics.

But politics is not confined to the affairs of government.
In fact, what governments do is relevant because it
affects the lives of the people in many ways. We see
that governments determine our economic policy and
foreign policy and educational policy. These policies
can help to improve the lives of people, but an
inefficient or corrupt government can also endanger
people’s lives and security. If the government in power
allows any conflicts to become violent, markets close,
and schools are shut. These disrupt our lives; we
cannot buy things that we may need urgently; those
who are sick cannot reach the hospital; even the school
schedule gets affected, syllabi cannot be completed,
and we may have to take extra coaching for the exams
and pay tuition fees. If, on the other hand, the
government makes policies to increase literacy and
employment, we may get an opportunity to go to a good
school and get a decent job.

Since the actions of the government affect us deeply,
we take a lively interest in what governments do. We
form associations and organise campaigns to articulate
our demands. We negotiate with others and try to
shape the goals that governments pursue. When we
disagree with the policies of the government, we protest
and organise demonstrations to persuade the
government to change the existing laws. We
passionately debate the actions of our representatives
and discuss whether corruption has increased or
decreased. We ask whether corruption can be rooted
out; whether reservations for specific groups are just or
not. We try to understand why some parties and
leaders win elections. In this way we look for the
rationale underlying the prevalent chaos and decay and
aspire to create a better world.

Which of the following options mentions the correct
definition of politics?

(A) Itis a kind of public service.

(B) It is the manipulation and intrigue undertaken to
pursue ambitions and satisfy wants.

(C) It is a sort of ‘scams’ where politicians defect from
parties, make false promises and tall claims,
manipulate different sections, pursue personal or group
interests ruthlessly and stoop to crime.

(D) It is a thing which arises from the fact that we have
different visions of what is just and desirable for us and
our society and involve multiple negotiations that go on
in society through which collective decisions are made.

Which of the following options mention the hypocrisy
highlighted by the author in the passage?

(I) People are disillusioned with the definition of politics.
(I) Some people, who despair of politics, benefit from
and fund various political parties.

(1) People judges politics with what politicians do.

(IV) Persons who earlier used to complain of politics
become adept at the game once they join it.

(A) Only (1)

(B) Both (1) and (IV)

(C) Both (1l1) and (II)

(D) All of (1), (11), (1) and (1V)

Which of the following options mention(s) the most

prevalent perception about politics among people?
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() It is a thing which arises from the fact that we have
different visions of what is just and desirable for us and
our society and involve multiple negotiations that go on
in society through which collective decisions are made.
(I) Pursuit of self-interest by any and every method.

(1) Politics envelops us like the coils of a snake and
there is no other way out but to wrestle with it.

(A) Only (I (B) Only (1)

(C) Only (111) (D) Both (1) and (lII)

Which of the following situations is the most ideal
situation for politics?

() On an issue having relevance for the whole society,
consensus has been reached among people having
different opinion.

(II) On an issue having relevance for the whole society,
consensus has not been reached but different groups of
people having different opinions have decided to
continue negotiations.

(1) On an issue having relevance for the whole society,
consensus has not been reached but one group among
the different groups having different opinions has
decided to organize nation-wide bandh.

(A) Only (1) (B) Both (1) and (lI)

(C) Only (1) (D) None of (1), (II) and (1)

Which of the following situations illustrates the
prevalent perception about politics among people but
not the correct definition?

(I) A bank customer uses his acquaintance to bypass
long queue at the customer service counter.

(I1) An uncle of Ravish, working as the Senior Manager
at a Telecommunication company, uses his
connections to help him get a new mobile connection at
a lightning fast speed.

(1) A group of people providing free meals three times
a day to poor people every day.

(A) Only (I) & (IN) (B) Only (1)

(C) Only (I) (D) All of (1), (I1) & (111)

Which of the followings is false?

(A) Politics is confined to the affairs of government.

(B) A society that wants to sustain itself needs to
consider the multiple needs and interests of its
members.

(C) Politics is an important and integral part of a
society.

(D) How governments are formed and how they
function is an important focus of politics.

Choose a word from the given options which means
almost the same as the word “intrigue” used in the

passage?
(A) Spectre (B) Onus
(C) Despair (D) Unscrupulousness

Choose a word from the given options which means
antonym as the word “stooping” used in the passage?
(A) Manipulating (B) Concocting

(C) Contriving (D) strengthen

Choose a word from the given options which means
antonym as the word “prevalent” used in the passage?
(A) current (B) customary

(C) stock (D) unconventional

Direction (45-50) Read the passage carefully and answer

the questions that follow by selecting the correct/most
appropriate options.

Little drops of water, Little grains of sand, Make the
mighty ocean and the pleasant land. Thus, the little
minutes, Humble though they be, Make the mighty ages

Web :- https://tesmus.com


http://bit.ly/TesMusPrime
https://tesmus.com/

CTET- 1l 2023 TEST ID - OMR - 879281553

45.

46.

47.

48.

49.

50.

51.

Of eternity. Little deeds of kindness Little words of love
Help to make earth happy Like the heaven above.

The poem uses a rhyme scheme. Which lines of the
poem rhyme?

(A) Lines 1 and 2
(C) Lines2and 4

(B) Lines 1 and 3
(D) Lines 3and 4

Which choice best represents the message that is in
the poem?

(A) The minutes tick by slowly.

(B) Never underestimate the power of a child.

(C) Drops of water and grains of sand are very small.
(D) The small things are as important as the big things.

The word HUMBLE in the poem most likely means:
(A) large in appearance

(B) lower in importance

(C) a part of a larger whole

(D) too small to see with your eyes

“Like the heaven above” is an example of?
(A) Onomatopoeia (B) Simile
(C) Repetition (D) Personification

According to the poem as drops related to ocean,
minutes is related to?
(A) Past

(C) Future

(B) Present
(D) Eternity

“though they be” is an example of?
(A) Onomatopoeia (B) Alliteration
(C) Repetition (D) Personification

If the students of your class show least interest in your
subject, as a teacher which strategy will you follow to
make the class interactive and interesting?

(A) Autocratic teaching strategy

(B) Democratic teaching strategy

(C) Heuristic method

(D) Lecture Method

Direction (52-60) Answer the following questions by selecting
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the most appropriate option.

The second language course is organized on elements
of human society and the natural world, without relying
on printed text. This is called the method.
(A) situational (B) natural

(C) grammar-translation (D) language immersion

Which one of the following is not a principle of helping
pupils with learning difficulties?

(A) Teaching preparation

(B) Design meaningful learning situations

(C) Teacher provide home tuitions

(D) Use teaching aids

Bilingual method was suggested by.
(A) Dodson (B) Smith
(C) Herbert (D) Reason

Which method is based on the theory “from example to
generalization”?

(A) Deductive method

(B) Inductive method

(C) Inductive-deductive method

(D) Incident method

Some parents have unrealistic expectation of their
children’s performance, in such case what should a
teacher do?

(A) Teacher has to try fulfill these expectation
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(B) Teacher has to explain the situation to school
principal.

(C) Teacher has to advise the pupil to try more.

(D) Teacher has to explain to the parents about the
characteristic and ability of pupil.

Teachers must keep in contact with parents to help
them understand their children and to provide
appropriate guidance to develop the pupil’s

(A) intelligence (B) potentials

(C) farsightedness (D) memory

Which factor belongs to the teacher?
(A) Availability of guidance

(B) Socio-economic background

(C) Professional efficiency

(D) Intellectual ability

The psychology of learning “Behaviorism” is related to

méquisition
(C) (A) and (B) both

(B) Learning
(D) None of these

Continues and comprehensive Evaluation helps in
reducing stress because it

(A) Identifies learning progress of students

(B) Desists from using negative comments on the
learner’s performance

(C) Encourage learning

(D) All of the above
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Part-(IV): Mathematics and Science

In 2011, the population of a city is 18.8 million. This
number is same as?
(A) 1880000
(C) 18800000

(B) 188000
(D) None of these

The product of two numbers is 675. If the H.C.F of
these numbers is 15, then find the greater number?

(A) 20 (B) 45

(C) 25 (D) 30

What should come next in the following pattern
233 2334 23345 233456 (?)
(A) 2324567
(C) 2334456

(B) 2334325
(D) 2334567

Evalute:

(-2) x (-3) x (-4) x (-5) x (-6)

(A) - 360 (B) 360
(C)-720 (D) 720

The objectives of giving homework correspond to which
statements?

(A) It develops a habits of regularity and hard working
(B) Students may utilize their leisure time

(C) It should be based on the content taught in the
class

(D) All of these

Lack of interest and motivation among students for
math curriculum is a result of reasons below except:

I. The predominance of symbolic language

1. In-depth understanding

I1l. Priority to procedures and memorisation of formulae
(A) 1 B)1

©ne&im D) 1&1

Which one of these statements is not correct regarding
remedial teaching:

(A) Is same as special education

(B) Offers one on one attention to students

(C) Is not only meant for students with special needs
(D) Is for students lagging behind than their peers

An open device used by the teacher to record
behaviour, factual description of the incident and help to
understand pupils realistically. Which of these are we
referring to:

(A) Rating scale
(C) Checklist

(B) Observation
(D) None of these

The main stage of curriculum construction is?

(A) Formulation of objectives of curriculum

(B) Selection of content or subject matter to be included
in the curriculum

(C) Organization of curriculum material

(D) All of these
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What should be the sequential order of steps of
remedial teaching below?
I. Analysis of pupils

Ill. Teaching objective

Il. Choosing strategies
IV. Adopting curriculum

V. Evaluation
(A) 1, IV, V, 11, 1l B) I, 11, 1V, V, |
(GIRIINVAIRY (D) IV, 1L, 1L, 1, V

Which is true regarding teaching aids?

(A) Teaching aids are useful in understanding the
difficult concepts and abstract ideas

(B) Teaching aids provide recreation to the students
which develops interest in the subject

(C) Teaching aids are helpful in motivating the student
to learn

(D) All of these

Giving assignments in mathematics to the student is the

(A) Techﬁique
(C) Principle of teaching

(B) AV aids
(D) Maxim of teaching

Choose correct response, the five percent of 125 is
6.25 (True/False). This type of question related to.

(A) Alternate response type (B) Completion type

(C) Simple recall type (D) Multiple choice type

“Every child gets opportunity to learn according to his
ability and capability” is a characteristic of

(A) Self-study in mathematics

(B) Supervised study in mathematics

(C) Good assignment in mathematics

(D) Brain storming in mathematics

In mathematics, why oral work is so important in the
initial stages to solve a problem?

(A) It saves money

(B) It results in the saving of time and efforts through
omission of certain steps

(C) Learning by this technique is retainable for a long
time

(D) It is very laborious technique
A teacher of mathematics applies to find the
difficulties and weaknesses of the students.

(A) Teaching learning techniques

(B) Cohesive arguments

(C) Essential constituents of group work

(D) Diagnostic test

The curriculum must meet the learner’s.
(A) Needs (B) Ornaments
(C) Difficulties (D) None of these

Measurement errors committed by the measurer and
evaluator are included in
(A) Personal errors
(C) Constant errors

(B) Variable errors
(D) Interpretative errors

The lesson plan means the detailed description which a
teacher completes in.

(A) Indefinite period (B) Definite period

(C) Full day (D) None of these
How many 1/7 are in 1?

(A)5 B)3

(©)2 D)7

No. of degree in two and one-third Right angles is
(A) 120° (B) 110°

(C) 210° (D) 180°
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Find face value of 8 in the number given below.
6789234
(A) 80

(C) 89234

(B) 80000
(D) 8

The number 5 crores 9 lacs 4 thousands 9 hundred
eighty-eight in numerals can be written as.

(A) 59004988 (B) 590400988

(C) 509049088 (D) 50904988.

Find the HCF of 2.1, 1.05 and 1.26?

(A)0.21 (B) 0.63
(C)0.42 (D) 0.14
Fill in the blanks, 450 ml +.....mI=1L .
(A) 750 ml (B) 450 ml
(C) 650 ml (D) 550 ml

For making 15 shirts.48metres of cloth is needed. How
much cloth is required for each shirt?

(A) 2.2m (B) 3.2m

(C)1.5m (D) 3.5m

The value of (the face value of 7 in 587689) +3 is.
(A) 10 (B) 20

(G)30 (D) 40

The value of is\/19+,/43— 40 + /81

(A) V7 (B8)7

(C) 5V5 (D)5

Rohit goes to sleep at 6:36 and wakes up 4 hours and
38 minutes later when does he wake up.

(A) 11:14 (B) 11:15

(C) 10:15 (D) 11:07

On the map, 1/4 cm shows 120 km on the ground. If
two cities are actually1920 Km apart on the ground,
then the distance between them on the map is.

(A) 4 cm (B) 3cm

(C)5cm (D) 6 cm

When a piece of stone is immersed in water, it displace
water of equal-
(A) Density
(C) Mass

(B) Specific Gravity
(D) Volume

First law of thermodynamics is normally related to-
(A) Charles’s law

(B) Boyle’s law

(C) Newton’s law of cooling

(D) Law of conservation of Energy

What is the standard unit of the mass?
(A) Quintal (B) Kg
(C) Gram (D) Newton

Which is the force that takes place between two
magnetic poles?

(A) Electrostatic force
(C) Gravitational force

(B) Magnetic force
(D) All of the above

What is the S.I. unit of concentration?
(A) Cubic meter per kilogram

(B) Ampere per meter

(C) Mole per cubic meter

(D) Kilogram meter per second

What is the speed of light in a vacuum?
(A) 3x108m/s (B) 3 x10° m/s
(C) 3 x10%m/s (D) 3 x10* m/s
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"The value of an electric current flowing in a conductor
is directly proportional to its potential difference at its
ends.”" Whose rule is it?
(A) Faraday's law

(C) Lenz's law

(B) Ohm'’s law
(D) Coulomb's law

By the use of Solar panel while converting solar
energy which of the following is produced?

(A) Light energy (B) Electric energy

(C) Chemical energy (D) Heat energy

Why are impurities added to a semiconductor?
(A) To increase its life

(B) To enabile it to withstand higher voltages
(C) To increase its electrical conductivity

(D) To increase its electrical resistivity

What is the Sl unit of resistance?
(A) Volt (B) Coulomb
(C) Ampere (D) ohm

The nine-digit code is called MICR because it is printed
with magnetic ink, which is usually made of-

(A) Silicon oxide (B) Iron oxide

(C) Sodium thiosulfate (D) Silver nitrate

The ink remains for a minimum of 72 hours on the skin.
The chemical used in voting inks is-

(A) Silver chloride (B) Silver bromide

(C) Silver nitrate (D) Silver lodide

Zone refining is used for the purification of-
(A) Au (B) Ge
(C) Ag (D) Cu

If the blood group of Father is A and the mother is of O.
Then which blood group May be possible to their
children?

(A)Aand O
(C)Aand B

(B) A, ABand O
(D) O blood group

The rubbing surface of a matchbox has powdered glass
and a little red
(A) Antimony
(C) Silicon

(B) Arsenic
(D) Phosphorus

Blue Vitriol is another name for which of the following?
(A) Copper Sulphate (B) Oxygen

(C) Copper (D) Magnesium Oxide
Vinegar contains acetic acid?

(A) 5-20% (B) 100%

(C) 7-8% (D) 25%

Consider the following statements:

1. The pH value of wine is 3.0 to 3.4.

2. The pH value of sea water is 8.2.

Which of the statements given above is/are correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

The chemical formula of the plaster of Parisis ___.
(A) Cas04.5H20 (B) Caso04. 1/2H20
(C) (Cas04)2. 2H20 (D) Cas0O4. MgoO

The maximum penetration power of which of the
following invisible radiations emitting from the nucleus
(A) Alpha rays

(C) Gamma rays

(B) Beta rays
(D) None of these

Select the correct match using the code given below:
Column-I Column-II

Web :- https://tesmus.com


http://bit.ly/TesMusPrime
https://tesmus.com/

CTET- 1l 2023 TEST ID - OMR - 879281553

A. Cellulose 1. Honey

B. Fructose 2. Sugarcane
C. Maltose 3. Cotton wool
D. Sucrose 4. Starch
ABCD

(A)3142 (B)2143
(C)3214 (D)2134

142. Acidity in the stomach involves.
(A) A headache
(B) Stomach aches
(C) Asthma
(D) Due to Hormonal deficiency

143. Biological names are generally derived from which

language?
(A) French (B) Latin
(C) Mexican (D) German

144. What Does Stand For DNA?
(A) Double nitrogen argon (B) Dioxide nickel acid
(C) Deoxyribonucleic acid (D) Deoxy nuclides acid

145. A few organisms can tolerate and thrive in a wide range
of temperatures. Such organisms are called
(A) Osmotic (B) Eurythermal
(C) Stenothermal (D) Hydrothermal

146. The yellow colour of urine is due to the presence of

(A) Bile (B) Lymph

(C) Cholesterol (D) Urochrome
147. The energy of food is measured in

(A) Calories (B) Celsius

(C) Kelvin (D) All of the above
148. Numismatics is the study of .

(A) Coins (B) Birds

(C) Stamps (D) Bones

149. Which of the following is estimated by the radio carbon
dating?
(A) Age of the Plant kingdom
(B) Age of the fossils
(C) Disease of the human body
(D) Purity of the metals

150. Which of the following is a chronic disease of the
Xerophthalmia?
(A) Protein (B) Vitamin A
(C) Vitamin K (D) Unsaturated fatty acids

Part-(V): Social Studies/Social Science

91.  Which of the following is the example of most used
natural fibers?
(A) Flax (B) Hemp
(C) Angora (D) All of the above

92. A teacher tells his/ her students that there is a water
body which has extremely saline water, density of salt
present in it is 300 grams/litre approximately. In this
water nobody can drown in it. Teacher is referring to -
(A) Red sea (B) Caspian Sea
(C) Black sea (D) Dead sea

93. Duck weed, water hyacinth, Hydrilla are the examples
of which category of plant?
(A) Wild plants (B) Weeds
(C) Aquatic plants (D) Grasses
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There is a species ‘P’ plants that grows in a huge
number but is found only in ‘T’ part of India in the entire
world. Identify the type of species.

(A) Exotic (B) Vulnerable

(C) Endemic (D) Endangered

A teacher has to teach about cultural diversity in food in
our country to class IV students. Which of the following
is the best way to teach this topic?

(A) Give a project to students about different kinds of
food taken by the people of various states in our
country.

(B) Ask students what they have eaten, followed by a
discussion.

(C) Ask students to collect information about the kind of
food taken in their family.

(D) Show flash cards having pictures of various food
items.

According to NCF 2005, one of the major objectives of
teaching of EVS at primary stage is to -

(A) develop in-depth understanding of basic concepts
of the subject

(B) prepare students for studies at the next stage

(C) help the learners link classroom learning to life
outside the school

(D) acquire skills to carry out hands-on activities
independently

Which among the following is not the benefit of
socialised recitation method in teaching?

(A) Develops the proper attitudes and skills among
learners

(B) Leads to futile discussion among learners

(C) Develops the spirit of cooperation among learners
(D) Helps in the socialisation of child

What is the significance of studying EVS as an
integrated environmental science?

(A) To be aware and be able to relate to natural and
socio-cultural environment.

(B) Being able to take part in all the activities.

(C) Scoring A+ in theory as well as in the projects.

(D) To enjoy learning of sciences more than that of
Languages.

Reema took a test after teaching the lesson
‘Experiments with water’ to class IV students. She
observed that most of the students got very less marks.
This happens because -

(A) the environment of the school was not suitable for
their cognitive level.

(B) The environment of the school was not suitable for
their learning

(C) Students did not pay attention in the class

(D) The teacher did not use the appropriate method to
teach and assess the topic

A heterogenous mixture in which the solute particles do
not dissolve but remain suspended is called —

(A) Colloidal solution (B) Solution

(C) Suspension (D) None of the above

The teacher gives picture of different types of animals
existing in the earth and asks them to shade
amphibians in it. The objective of this activity is to

develop:

(1) Creativity (2) Observation
(3) Classification skill (4) Data collection
Which of the above is/or correct?

(A)Aand C (B)A,B,C,and D
(C) Only A (D) Only C

Web :- https://tesmus.com


http://bit.ly/TesMusPrime
https://tesmus.com/

CTET- 1l 2023 TEST ID - OMR - 879281553

102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

App :- htt

Formula for distance is?
(A) speed x time
(C) speed x acceleration

(B) Time / speed
(D) Velocity / speed

Why is it easier to swim in sea water than in river
water?

(A) Because salinity of sea water is less than river
water

(B) Because density of sea water is less than river
water

(C) Because density of sea water is more than river
water

(D) None of the above

Who built Red Fort of Delhi?
(A) Humayun
(C) Shah jahan

(B) Akbar
(D) Aurangzeb

Which of the following chemical
responsible for acid rain?
(A) Sulfur dioxide
(C) Both A and B

compounds are

(B) Nitrogen oxides
(D) None of these

The physical method commonly used to purify sea
water is?

(A) Evaporation
(C) Filtration

(B) Sedimentation
(D) Distillation

Which of the following is a major factor for the global
movement of water?
(A) Evaporation

(C) Snowmelt

(B) Afforestation
(D) Evapotranspiration

The science portion in EVS develops the skill related to
the given task except:

(A) Classification of solid form liquid

(B) Measuring the length of the pencil

(C) Throwing the dust in the dustbin

(D) Filling the worksheets related to concept ‘water’

Which among the following are drawback of applying
project method in teaching?

(1) doing after knowing

(2) Difficult to formulate

(3) Requires highly qualified teachers

(4) Freedom and self-direction

A)1,2,3 (B) 2,3,4

(C) 2, 4 only (D) All of the above

According to NCF 2005 the books of EVS designed in
such a way -

(1) Textbook should the way of knowledge

(2) That should contain chapters made out of real-life
incidents

(3) The content of the book should provide
opportunities to children to debate, engage and develop
sensitive understanding of these topics

(4) Designed in a way to give children a lot of space to

explore.
(A)1,2 B)2,3,4
©1,23 (D) All of the above

Protected areas like National Parks and Sanctuaries
are called

(A) In-Situ conservation
(C) Both (A) and (B)

(B) Ex-Situ conservation
(D) none of the above

A teacher uses the aid of discussion for teaching a
particular topic in an EVS class. Select the main
objective of using this aid.

(A) completing the topic in a limited period of time

(B) Enabling the students to prove their point correct in
any sense
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(C) Providing a platform to students to highlights each
other’s shortcomings.
(D) Stimulating the critical thinking in students

Among the following which is not the element of active
learning?

(A) Questioning
(C) Exploring

(B) Experimenting
(D) Remembering

In which way the feature of ‘survey and write ‘available
in EVS textbooks helps students in learning process?
(A) help them develop practical skills

(B) Make them understand their surroundings better
with exploration

(C) Improving their writing skills

(D) Help them to become better at data collection on
ground

With which historical personality is the Raigarh Fort
associated?

(A) Rana Pratap
(C) Akbar

(B) Shivaji
(D) Muhammad Tughlaq

If the mass of an object is 60 kgs, what will be its weight
on the moon? (N=Newton)
(A) 60N
(C) 98N

(B) 600N
(D) 10N

Which of the following is not a vector quantity?
(A) Speed (B) Velocity
(C) Torque (D) Displacement

Which among the following painting depicts a story?
(A) Madhubani painting (B) Pata painting
(C) Kalamkari painting (D) Chitra kathi painting

BOD3 stands for

(A) 3-times Biochemical Oxygen Demand
(B) 3-minutes Biochemical Oxygen Demand
(C) 3-day Biochemical Oxygen Demand

(D) 3-weeks Biochemical Oxygen Demand

By demonstrating spiny leaves a teacher is teaching
about which type of plants?
(A) Terrestrial
(C) Epiphytic

(B) Aquatic
(D) Xerophyti

On which day the environment day is observed?
(A) 4th June (B) 5th June
(C) 15th June (D) 26th June

The process of photo synthesis is most intensive in the
colour-

(A) Blue (B) Yellow

(C) Red (D) Green
Ocra is rich in-

(A) Phosphorus (B) Vitamin 'A’
(C) Vitamin 'C' (D) All of these
The largest area under fruits in India is of-
(A) Lime (B) Guava

(C) Mango (D) Papaya

Chipko Movement for saving environment is related to
the state of-

(A) Uttar Pradesh
(C) Chhattisgarh

(B) Jharkhand
(D) Uttarakhand

Biological component among the following is-

(A) Plants (B) Sail
(C) Air (D) Water
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Which of the following is not an example of chemical
fertilizer?
(A) Urea
(C) Phosphate

(B) Potash
(D) Compost

Which of the following gases has
concentration in our environment?
(A) Oxygen (B) Carbon di-oxide
(C) Hydrogen (D) Nitrogen

the highest

Which of the following is major pollutant in the acid
rain?

(A) Sulpher di-oxide
(C) Carbon mono-oxide

(B) Carbon di-oxide
(D) Hydrogen per-oxide

The objective of NCTE is-

(A) To open schools

(B) To maintain the level of education in the schools
(C) To promote research in education

(D) To provide grants to schools

Endangered species of India is__

(A) Most or all the population are decreasing due to
over-exploitation

(B) The species with, small world population are at risk
(C) Species in danger of extinction

(D) The species which are considered secure

All are used as tool for observation method of learning
except

(A) Rating scales
(C) Score cards

(B) Schedules
(D) Slipper stamp

Among the following which law does not comes under
Gestalt laws of learning?
(A) laws of similarity

(C) Laws of proximity

(B) Laws of readiness
(D) Law of contrasts

What will happen when lemon and egg are placed in
water in which good amount of salt is present?

(A) Lemon and egg will float in the water

(B) Lemon and egg will sink in the water

(C) Lemon and eggs become salty

(D) Lemon and egg start spoiling due to presence of
water

Aim of asking probing questions in the class is to
enhance the skills of students.

(A) Social (B) Emotional

(C) Thinking (D) Listening

Which one of the following is not an objective of
including riddles and puzzles in the EVS textbook?

(A) To develop critical thinking ability in students

(B) To develop reasoning ability in students

(C) To confuse the mind of the students and let them
enjoy the confusion

(D) To develop curiosity and ability to think creatively

After the lunch break, while teaching EVS, you find that
students are not taking interest in the lesson. What
would you do?

(A) Use audio-visual aids based
intelligences to make the lesson interesting
(B) Change the topic immediately

(C) Take the children out to play in the ground

(D) Ask them to put their heads down on the desk and
relax

on multiple

Read the statement carefully:
1) awareness of environmental problems and skills to
solve them
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2) Informing about the names of organisations working
for the environment

3) Sensibility towards environment

4) Basic understanding of the environment and its
interrelationship with humans

Which among the given statement represents the true
objective of environmental education?

(A)1,2 (B)1,2,4

(©) 3,4 (D)1,2,3,4

The national animal of India is-

(A) Elephant (B) Lion

(C) Tiger (D) Peacock
Marine weeds are a rich source of-

(A) Chlorine (B) Bromine
(C) lodine (D) Iron

What are the minimum ages for marriage of boys and
girls in India?

(A) 21 years and 18 years (B) 18 years and 21 years
(C) 18 years and 18 years (D) 18 years and 16 years

The number of Vedas is-
(A) One
(C) Three

(B) Two
(D) Four

Kalibanga is located in the site related to the Harappan
civilization-

(A) In Gujarat

(C) In Uttar Pradesh

(B) In Rajasthan
(D) In Bengal

Who was the 24th Tirthankar of Jainism-
(A) Rishabh dev (B) Mahavir Swami
(C) Parshvanath (D) Aristhenemi

Which of the following animal sanctuaries is home of
Asiatic Lions?
(A) Kaziranga
(C) Gir

(B) Corbett
(D) Bharatpur

Kaziranga National Park is famous for which of these
animal species?
(A) Asiatic Lion
(C) Panda

(B) Rhinoceros
(D) Hippopotamus

Perihelion which is the earth’s position closest to the
sun takes place on
(A) 3 January

(C) 4 July

(.B) 21 December
(D) 23 May

Which of the following cities is not situated on the river
bank?

(A) Agra
(C) Bhopal

(B) Patna
(D) Kolkata

Article 16 of Constitution provides every citizen of India,
Right to equality of opportunity in the matter of ?
(A) Private employment

(B) Public employment

(C) Education

(D) Matters related to free education

in the constitution of India, which of the following has
been mentioned the Promotion of international peace
and security?

(A) Fundamental Rights

(B) Policy Directive Principles of State

(C) Fundamental duty

(D) None of the above
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: Child Development & Pedagog

learning is alienable or transferable it means
applying what one has learned to another
situation is one of the important charactexristics
of learning.it is important that children learn to
apply the concepts that they study in different
situations to solve the problems they face in
daily life. if learning cannot be transferred, it will
not be of much help to the learner.

convergent thinking is the basis of intelligence
whereas divergent thinking forms the basis of
creativity.in convergent thinking, and individual
has the tendency to find out the one most
appropriate idea or response whereas divergent
thinking allows as many responses as possible.
Diversity and tolerance, such great values are
learnt by the learns inside a multicultural class.
Emotion may be understood as an agitated or
excited state of our mind and body. Emotions
are extremely individualistic, and they differ from
person to person.

Cognitive perception allows us to organise and
understand the world through stimuli that we
receive from our different senses, like sight,
hearing, smell, taste and touch etc.

Motivation increases initiation of, and
persistence in, activities. learners are more likely
to begin a task they actually want to do.

During stage of Middle childhood, the
understanding or viewpoint for a particular thing
or situation can also exist develops. They are
also able to focus on more than one aspect of a
situation and go back and forth on their thinking.
Multiple pedagogical techniques, assorted
learning material, multiple assessment
techniques and varying the complexity and
nature of the content are associated with
remedial teaching.

If a child fails, it indicates the system has failed.
Learning is most effective when an individual is
experienced, disciplined and his environment
has remarkable influence.

discrimination Gender- biased curriculum causes
discrimination and it leads to an unfair difference
between education for boys and girls.

According to Gardner's theory of multiple
intelligence  Bodily-kinesthetics intelligence
expected for Athletes. Because Bodily-
Kinesthetics intelligence is the ability to use
mental abilities to coordinate body movement.
Formative assessment has similar meaning to
Assessment for learning. the term was
introduced by Michael Scriven. It is a process of
looking for and interpreting evidence for use by
learner and their teachers to decide where the
learners are in their learning.so they can plan
and manage the next steps in their learning.

The continuous and comprehensive evaluation
is related to following objectives:

» To maintain desired standard of attainment.

* To provide scope for self-evaluation.

» To make evaluation an integral part of teaching
learning process

* To use evaluation for improvement of student’s
achievement through diagnosis and remediation
* To make sound judgement and take timely
decisions for learner's growth, learning process,
learning pace and learning environment.

Gifted children are divergent thinker. Divergent
thinker means a thought process or method
used to generate creative ideas by exploring
many possible solutions.
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when students come from socio economically
disadvantaged back grounds, in such a case
teacher should focus on their cultural knowledge
to address individual differences, not reject or
dismiss it because students can express itself
best in its home language.

The classroom organisation should be suitably
changed to allow students to choose what they
want to work on at least part of the time.

Bloom's taxonomy is a set of three hierarchical
models to classify educational learning
objectives into levels of complexity and
specificity. The cognitive domain list has been
the primary focus of most traditional educational
education and is frequently used to structure
curriculum learning objectives, assessments and
activities.

Mobility and Orientation training is associated
with students with visual impairment. Mobility
means movement and orientation means
specific positions. This training focus on
instructing who are blind or visually impaired
child to know where he/she is in space and
where he/she wants to go. It enables the child to
carry out a plan to get there (mobility). This
training can work for schools, government
agencies, private sectors.

Divergent thinking is found among creative and
curious children. Some personality traits
associated with divergent thinking are -
curiosity, persistence, willingness to take risks,
nonconformity etc.

Teacher encourages the students to learn, think,
feel and work for themselves. Autocratic strategy
is teacher centred or teacher exercise full control
over students. Hence, option C is correct.
adaption Emotions are needed for adaption and
survival and influence a person on how he
perceives the world.

Words and their meaning Semantics is the study
of words and their meaning.

One of the most prominent notions concerning
the interplay between intelligence and creativity
is the threshold hypothesis, which assumes that
above-average intelligence represents a
necessary condition for high-level creativity. The
threshold hypothesis is commonly investigated
by splitting a sample at a given threshold (e.g.,
at 120 IQ points) and estimating separate
correlations for lower and upper 1Q ranges.

Most of the children in their adolescence go
through the phase of self-actualization in which
they correlate themselves with their society.
Convergent thinking is a process of combining a
finite number of ideas to find a single solution.
therefore, to solve multiple-choice question we
would use convergent thinking.

Before starting a new chapter, recapitulation is
significant for the teacher as this way learners
are able to get the summary of previous chapter
and it helps them in connecting previous
information with the new information which they
will learn.

Emotions bring about certain external changes
which can be seen by others in the form of facial
expressions or behaviour pattern

According to this Act, every child aged between
6 to 14 years will be provided 8 years of
elementary education in a neighborhood school.
The title of the RTE Act incorporates the word
‘free and compulsory’. Free education means
that no child, other than a child who has been
admitted by his or her parent to a school which
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is not supported by appropriate government
shall be liable to pay any kind of fees or charges
or expenses which may prevent him or her from
pursuing and completing elementary education.
Compulsory education casts an obligation on the
appropriate government to provide and ensure
admission, attendance and completion of
elementary education by all children in the 6 - 14
age groups.

Albert Bandura claims that the human beings
observe other individual behaviours and models.
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English Languag

The Right of Children to Free and Compulsory
Education Act, 2009 has included ‘all round
development of the child’ as one of the aims of
education because it nurtures the physical,
mental an devotional aspects of the child.It
provides for development of curriculum which
would ensure the all-round development of the
child, building on the child's knowledge,
potentiality and talent and making the child free
of fear, trauma and anxiety through a system of
child friendly and child centred learning.

The principles are the roots, the sources and
origin of any subsequent edifice of knowledge
and human activity. They provide the guidelines
and a foundational ground work to the English
teacher. Linguistic principles of English
language include .
a. Principle of defining goals properly

b. Principle of naturalness

c. Principle of habit formation

d. Principle of proper order

e. Principle of oral-approach

f. Principle of motivation

etc. they are like the light house to the
educational ships in the vast sea of existence.

In order to help pupils with learning difficulties,
the school must liaise closely with parents. In
case of the parents having an unrealistic
expectation of their children, remedial teachers
have to explain to them about the characteristics
and abilities of pupils, rather than giving home
tuition to them so that they may help their
children to learn in a pleasurable manner.
Teachers must keep in close contact with other
teachers to discuss to improve pupils’ learning
behavior and they should assess the progress
the pupils regularly and systematically.
Communicative language teaching is an
approach to language teaching that emphasizes
interaction as both the means and the ultimate
goal of study. One of the tasks of the teacher in
Communicative Language Teaching is to
determine the language needs of the learners.
Kindergarten method of teaching writing was
developed by Froebel. This method favors
learning by doing. Students are given plastic and
wooden blocks of alphabet, shapes etc. and
they are asked to join them in sequence.

The answer to the question can be derived from
the first two sentences of the last paragraph ‘to
sum up, politics arises from the fact we have
different visions of what is just and desirable for
us and our society. It involves the multiple
negotiations that go on in society through which
collective decisions are made’. Options (a), (b)
and (c) reflect the misconception about politics.
The answer to the question can be derived from
the last two sentences of the first paragraph ‘it is
not only ordinary people who despair of politics;
even businessmen and entrepreneurs routinely
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blame politics for their woes even as they benefit
from and fund various political parties. Cinema
stars also complain of politics though they seem
to be adept at the game once they join it’.

The statements (II) and (IV) can be derived from
the above-mentioned sentences.

The statements (I) and (lll) don’t fall under the
definition of hypocrisy.

The answer to the question can be derived from
the first sentence of the third paragraph ‘It is
unfortunate that politics has come to be
associated with the pursuit of self-interest by any
and every method’. Thus, statement (Il) is
correct and option B is the correct answer.

First, let's understand what politics is. To
understand this, we need to refer to the first two
sentences of the last paragraph ‘To sum up,
politics arises from the fact that we have
different visions of what is just and desirable for
us and our society. It involves the multiple
negotiations that go on in society through which
collective decisions are made.’ In the given
situations, there is an issue on which different
people have different opinion but in the situation
marked as (I), a consensus has been reached
among people which facilitate  making
a collective decision while in the situation
marked as (Ill), a chaos seems to be created
which as mentioned in the fourth paragraph is
termed as bad politics.

The answer to the question can be derived from
the first sentence of the third paragraph ‘It is
unfortunate that politcs has come to be
associated with the pursuit of self-interest by any
and every method’, and from few sentences of
the first paragraph: ‘If we see a cricketer
manipulating to stay in the team, or a fellow
student trying to use his father’'s position, or a
colleague in office mindlessly agreeing with the
boss, we say he or she is playing ‘dirty’ politics.’
Upon analyzing the above, we can understand
that the prevalent perception about politics is the
pursuit of self-interest by any and every method.
The statements (I) and (ll) correctly illustrate the
prevalent perception about politics among the
people.

The first sentence of the fourth paragraph says,
‘But politics is not confined to the affairs of
government’. Clearly, option A is FALSE.

The options (b), (c) and (d) are true as they are
present as sentences in the third paragraph.
Intrigue [noun] means ‘the secret planning of
something illicit or detrimental’;

Spectre [noun] means ‘a ghost’;

Onus [noun] means ‘something that is one’s
duty or responsibility’;

Despair [noun] means ‘the complete loss or
absence of hope’;

Unscrupulousness [noun] means ‘the state of
being unscrupulous (a person who has contempt
for laws of right or justice’;

From above, it could be understood that the
word ‘unscrupulousness’ has a meaning which
is SIMILAR to the meaning of the word
‘intrigue’.

‘Stooping’ [stoop, verb] means ‘lower one’s
moral standards so far as to do something
reprehensible’;

Manipulating [manipulate, verb] means ‘handle
or control (a tool, mechanism, information, etc.)
in a skillful manner’; ‘control or influence (a
person or situation) cleverly or unscrupulously’;
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Concocting [concoct, verb] means ‘create or
devise (a story or plan)’;

Contriving [contrive, verb] means ‘create or bring
about (an object or a situation) by deliberate use
of skill and artifice; manage to do something
foolish or create an undesirable situation’;

From above, it could be understood that among
the given options, the word ‘strengthen’ has a
meaning which is OPPOSITE to the meaning of
the word ‘stooping’.

prevalent means widespread in a particular area
or at a particular time.

For example -the social ills prevalent in society
today customary means according to the
customs or usual practices associated with a
particular  society, place, or set of
circumstances. For example - It is customary to
mark an occasion like this with a toast. From
above, it could be understood that among the
given options, the word ‘unconventional’ has a
meaning which is OPPOSITE to the meaning of
the word ‘prevalent’.

Lines 2 and 4 have rhyming words so they
rhyme with each other.

The whole poem is all about the importance of
the small things.

The word ‘humble’ in this context means “lower
in importance”.

Simile is a figure of speech involving the
comparison of one thing with another thing of a
different kind, used to make a description more
emphatic or vivid (e.g. as brave as a lion). Here
the earth is compare to the heaven.

The second stanza talks about the minutes
being an component of the ‘eternity’.

Alliteration is the occurrence of the same letter
or sound at the beginning of adjacent or closely
connected words. Here the sound ‘th’ is
repeated several times.

As a teacher, we will follow democratic teaching
strategy. This strategy is child-centered.
Generally, it stress upon the achievements of
objectives of effective psycho motor domains.
Here, the interaction between the teacher and
student is the must, individual differences are
kept in mind while selecting the strategies.
Hence, importance should be given to the
interest and abilities of the students. These
strategies encourage the creative abilities of the
students.

The second language course is organized on
elements of human society and the natural
world, without relying on printed text. This is
called the natural method.

The teacher provides home tuitions is not a
principle of helping pupils with learning
difficulties.  Since  pupils have different
characteristics in learning, teachers must devise
different learning activites with the same
teaching objective to develop pupils' varied
abilities and skills in problem-solving. It is more
effective for teachers to use teaching aids, adopt
a series of relevant and simple teaching
activities than assigning one long teaching
activity since pupils may acquire the required
knowledge and skills through diversified
activities.

The bilingual method was suggested by Dodson.
The bilingual method of foreign language
teaching was developed by C.J. Dodson (1967)
as a counterpart of the audiovisual method.
Inductive method is based on the theory “from
example to generalization”. In logic, we often
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refer to the two broad methods of reasoning as
the deductive and inductive approaches.
Deductive reasoning works from the more
general to the more specific. Sometimes this is
informally called a "top-down" approach. We
might begin by thinking up a theory about our
topic of interest.

Some parents have unrealistic expectation of
their children’s performance, in such case
teacher has to explain to the parents about the
characteristic and ability of pupil, so that they
may help their children to learn in a pleasurable
manner.

Teacher should carefully observe the
performances of pupils and give them
appropriate assistance, feedback and
encouragement and have in contact with their
parents for these activities so as to help them
acquire the learning skills.

Professional efficiency is the factor belongs to
the teacher; while others are the factors belong
to the students.

The psychology of learning “Behaviorism” is
related to the learning. It is the way through
which the art of using skill and practice is given
to learn. Psychology of learning; (1) Behaviorism
and (2) Cognitivism

Continues and comprehensive Evaluation (CCE)
is a school-based assessment which covers all
aspects of student’s development. The two main
objective of CCE are continuity in assessment
and broad-based learning. CCE helps in
reducing stress because it;

* identifies learning progress of students at
regular intervals and on small portions of content
at a time.

* employs a wide variety of remedial measures
based on learning needs and potential of
different students.

* desists from using negative comments on the
student’s performance.

* encourages learning through using a variety of
teaching aids and techniques.

* seeks active involvement of learners

Part-(lll): Language Il (Hindi Language
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Part-(1V): Mathematics and Science

Ans.91(C)

Ans.92(B)

Ans.93(D)

Ans.94(C)

Ans.95(D)

Ans.96(B)

Ans.97(A)

Ans.98(D)

Ans.99(D)

1 million = 106

18.8 million = 18.8X106 = 18800000.

Let the numbers be 15a and 15b.

Then, 15a x 15b =675

ab=3.

Now co-primes with product 3 are (1, 3)

So, the required numbers are (15x1, 15x3)

i.e., (15,45)

therefore greater number = 45

Pattern can be formed as:

233 2334 23345 233456 (2334567)
(-2)%(-3)x(-4)x(-5)x (-6)

(+6) x (+20) x (-6)

=120 x -6

=-720

By giving homework means creating a study
environment in the children at home. It develops
a habit of regularity and hard working. Home
work should be based on the content taught in
the classroom. Students may utilize their leisure
time for a good cause; otherwise student will
waste it in gossiping.

A deep and meaningful understanding of
concepts of mathematics will increase motivation
and interest.

Remedial teaching is not same as special
education. Remedial methods can be used for
special needs students but are also used for
students who are not performing well in spite of
average or higher intellectual abilities and are
designed to provide individual attention to
students. Special education techniques are
however designed to address unique needs of
learners.

Anecdotal records are factual descriptions of
incidents or events and a history of behaviour
which is a result of direct observation. Therefore,
the correct option is D.

There are three main stage of curriculum
construction:

* Formulation of objectives of curriculum.

* Selection of content or subject matter to be
included in the curriculum.
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Ans.107(A)
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* Organization of curriculum material.

There are certain objectives behind the
performance of any activity or task by someone.
It means nothing is done aimlessly. Therefore, it
is obvious that the important task like curriculum
construction must have certain objectives. These
objectives are fundamentally important as a
guide to curriculum makers, text book writers,
teachers and supervisory officers of schools.
The educational values of the subject provide
the basis to formulate the objectives of
curriculum of that subject. The educational aims
and objectives of teaching mathematics are also
the objectives of its curriculum. The selection of
the content or subject matter for the curriculum
of a particular subject and particular stage is an
important and tedious task. What should be
selected or what should not be selected is to be
decided according to its capability of realizing
the objectives of the curriculum. So, the
objectives of curriculum form the core of criteria
for the selection of content. The third and last
stage of curriculum construction is the
organization of subject matter. After the
selection of topics or subject matter, it requires
proper arrangement.

Steps of remedial teaching in sequence are:

* Analysis of pupils

 Teaching objective

» Adopting curriculum

* Choosing strategies

* Evaluation

Teaching aids make the teaching learning
process simple and interesting. It satisfy the
innate tendencies of children. It is helpful in
motivating the student to learn. It provides
recreation to the students which develop interest
in the subject. Teaching aids are useful in
understanding the difficult concepts and abstract
ideas. With the use of teaching aids, the needs
of individual students are fulfilled.

Assignment is a sort of undertaking or
commitment on the part of the learner so that
pupil will be more wiling to try to do it
Therefore, we can say that giving assignments
in mathematics to the student is the technique.
An alternate response type item has only two
possible responses. The pupil has to select one
appropriate response from the given two
alternate responses. This type of items is usually
known as true-false type items.

“Every child gets opportunity to learn according
to his ability and capability” is a characteristic of
Supervised study in mathematics.

In mathematics, oral work is not only interesting
but may be effective especially in the initial
stages. An appeal to the eye and ear is more
effective than written work. Students generally
love to listen to talks and talk to themselves in
their initial stages. Oral works results in the
saving of time and efforts through omission of
certain steps. It helps us in mental calculations.
Just as a doctor diagnoses a patient to find the
nature, type and extent of his disease before
prescribing medicine, a teacher of mathematics
applies diagnostic test to find the difficulties and
weaknesses of the students. In it, both
background and performances of the students
are needed. Diagnostic tests are qualitative not
the quantitative.

According to Bent kronenberg, “curriculum is the
systematic form of subject matter which is
prepared to fulfil the need of the pupils.”
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Ans.108(A)

Ans.109(B)

Ans.110(D)
Ans.111(C)

Ans.112(D)

Ans.113(D)
Ans.114(A)

Ans.115(D)

Ans.116(B)

Ans.117(A)

Ans.118(D)

Ans.119(A)

Ans.120(A)

Ans.121(C)

Ans.122(D)

Curriculum does not mean only the academic
subjects traditionally taught in the school, but it
includes totality of experiences that a pupil
receives through the manifold activities that go
on in the school.

Personal errors includes measurement errors
committed by the measurer and evaluator. It has
been seen that physical and mental state of the
measurer, his personal viewpoint, his liking and
prejudices has direct or indirect bearing on his
measurement process.

There are three phase of teaching; pre-active,
interactive, and post- active. Before entering in
the classroom whatever activities are planned
and recorded for definite period may be put in
the pre-active phase of teaching. So, the lesson
planning is the pre-active phase of teaching.
Teacher completes it in definite period.

Required number of 1/7=7

One right angle=900

Hence, 2% right angle= g %X 900 = 2100
6789234is the number by which we have to find
out the face value of 8

Face value is the actual value of the digit.

In the number, the "8" has a face value of 8
Then we get 8. This is the face value of 8

So the answer to the question is 8.

50904988

To solve this question quickly, first remove
decimal by multiplying each term with 100

Then terms become 210, 105,126

Then HCF of above terms is 21,

So answer is 0.21

1L =1000 ml

450 ml + (X) mI=1000 ml

(X) ml =1000 ml - 450 ml = 550 ml

cloth required for 15 shirts = 48metres

Cloth required for each shirt = 48/15=3.2m

The face value of 7 in 587689 = 7

(the face value of 7 in 587689) +3 = 7+3=10

19 + ’43— [40 + V81
\

=J19+ [43— Va0 +9

= [19+ya3—7
= [19+36

=+19+6
=25

=5

Add the Hours: 6 + 4 =10

Add the Minutes: 36 + 38 =74

The minutes are 60 or more, so subtract 60 from
minutes (74 — 60 = 14 Minutes) and add 1 to
Hours (10 + 1 = 11 Hours) ...

So, Rohit wakes up at 11:14

On the map, 120 km=1/4 cm.

Therefore, on the map, 1920 km

=1920/(4x120) = 4cm

Archimedes’ Principle states that upward
buoyant force exerted on a body immersed in a
fluid is equal to the weight of the fluid the body
displaces.

The First Law of Thermodynamics states that
heat is a form of energy, and thermodynamic
processes are therefore subject to the principle
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Ans.123(B)

Ans.124(B)

Ans.125(C)
Ans.126(A)
Ans.127(B)

Ans.128(B)

Ans.129(C)

Ans.130(D)

Ans.131(B)

Ans.132(C)

Ans.133(B)

Ans.134(A)
Ans.135(D)

Ans.136(A)

Ans.137(A)

Ans.138(C)

Ans.139(B)

Ans.140(C)
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of conservation of energy. This means that heat
energy cannot be created or destroyed.
The standard International System of Units (SI)
unit of mass is the kilogram (kg). first defined in
1795 as one cubic decimetre of water at the
melting point of ice.
The force between two magnetic poles is called
magnetic force.
Molar concentration The Sl unit is mol/m3.
Speed of light in a vacuum 3.00 x 108 m / s
Ohm’s laws: The value of an electric current
flowing in a conductor is directly proportional to
its potential difference at its ends:
Photovoltaics are best known as a method for
generating electric power by using solar cells to
convert energy from the sun into a flow of
electrons by the photovoltaic effect. Solar cells
produce direct current electricity from sunlight
which can be used to power equipment or to
recharge a battery.
Here are two types of charge carriers in
semiconductors. They are electrons and holes.
. Since conductivity depends on the no of
charge carriers per unit volume, the conductivity
increases. So, impurity is added to increase the
carrier concentration.
The ohm (symbol: Q) is the Sl unit of electrical
resistance, named after German physicist Georg
Simon Ohm.
The nine-digit code is called MICR because it is
printed with magnetic ink, which is usually made
of iron oxide. Magnetic ink is used so that
numbers are readable even if it is stamped over.
Election ink uses silver nitrate, and excessive
exposure can cause argyria. It was first used
during the 1962 Indian general election, in
Mysore State, now the modern-day state of
Karnataka.
Zone refining is used for the purification of
germanium, silicon and gallium used in
semiconductors.

The rubbing surface of a matchbox has
powdered glass and a little red Phosphorus
Copper sulfate exothermically dissolves in water
to give the aquo complex 2+, which has
octahedral molecular geometry and is
paramagnetic. Other names for copper sulfate
are "blue vitriol* and "bluestone”.

Vinegar is an aqueous solution of acetic acid
and trace chemicals that may include flavorings.
Vinegar typically contains 5—20%acetic acid by
volume. Usually the acetic acid is produced by
the fermentation of ethanol or sugars by acetic
acid bacteria.

Low pH wines will taste tart and crisp, while
higher pH wines are more susceptible to
bacterial growth. Most wine pH's fall around 3 or
4.

The pH of seawater has remained steady for
millions of years. Before the industrial era
began, the average pH at the ocean surface was
about 8.2.

The chemical name of plaster of Paris is calcium
sulphate hemihydrate because half molecule of
water is attached with calcium sulphate. The
chemical formula of plaster of Paris is
CaS04.1/2H20

The energy that is released as the atoms
become stable is known as radiation. There are
three types of radiation: alpha particles, beta
particles and gamma rays. Beta particles can be
blocked by a sheet of aluminium, but gamma
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Ans.141(A)

Ans.142(B)
Ans.143(B)

Ans.144(C)
Ans.145(B)

Ans.146(D)

Ans.147(A)

Ans.148(A)

Ans.149(B)

Ans.150(B)

rays require several inches of lead, concrete or
steel to be stopped.

Cellulose - Cotton wool

Fructose - Honey

Maltose - Sugarcane

Sucros - Starch

The highly acidic environment in the stomach
causes proteins from food to lose their
characteristic folded structure.

Biological names are generally derived

from Latin language.

Deoxyribonucleic acid (DNA)

A few organisms can tolerate and thrive in a
wide range of temperatures (they are called
eurythermal), but, a vast majority of them are
restricted to a narrow range of temperatures
(such organisms are called stenothermal).

Urine color generally ranges from a pale-yellow
color to deep amber. This coloring is primarily
caused by the pigment urochrome, also known
as urobilin.

Energy is measured in units of kilo calories
(kcal) or kilojoules (kJ). One kilo calorie is equal
to 4.18 kilojoules (4.18 kJ).

Numismatics is the study or collection of
currency, including coins, tokens, paper money
and related objects.

Age of the fossils is estimated by the radio
carbon dating.

Xerophthalmia caused by vitamin A deficiency
is described by dryness of the conjunctiva and
cornea.

Part-(V): Social Studies/Social Science

Ans.91(D)

Ans.92(D)

Ans.93(C)

Ans.94(C)

Ans.95(A)

Natural fibers are greatly elongated substances
produced by plants and animals that can be
spun into filaments, thread or rope. Woven,
knitted, matted or bonded, they form fabrics that
are essential to society. Flax, Hemp and Angora
are all examples of natural fibers.

All oceans and sea have salty water. The
saltiest of all the sea is dead sea. In this sea
approximately 300 grams of salt present in one
litre of water. Even if a person who does not
know to swim will not drown in this area, person
will float as if lying down on it.

Water plants are also called Aquatic Plants.
Water plants are found along edges, on the
surface, or at the bottom of shallow lakes and
ponds. Some of the water plant has floating
leaves like Lotus and some are completely
submerged under water like Hydrilla.

The species that belongs exclusively to a
particular part of world is called endemic
species. For example, Holgrems buckwheat is
endemic to the Great Basin National Park -
exotic species - it is an introduced species of an
organism that is not native to the place or area
where it is considered introduced and instead
has been accidentally or deliberately transported
to the new location to the new location by
human activity. Example- honeysuckle plant -
endangered species - are those considered to
be at risk of extinction. Example - tiger, Texas
wild rice -vulnerable species - an animal/plants
species that is likely to become endangered is
called vulnerable. A vulnerable animal species is
often at risk due to loss of habitat or declining
population. Example- Bryophytes (plants), giant
panda (animal).

The best way to teach cultural diversity in food in
our country to class 4th students is to give them
a project about different kinds of food taken by
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the people of various states in our country. The
project will enhance the perceptions, thought
about food they eat and foods popular in other
states.

The National Curriculum Framework 2005
indicates some of the objectives of teaching
science and Social Sciences at the primary
stage as follows: * to train children to locate and
comprehend relationships between the natural,
social and cultural environment; * to develop an
understanding based on observation and
illustration, drawn from lived experiences and
physical, biological, social and cultural aspects
of life, rather than abstractions;* to create
cognitive capacity and resourcefulness to make
the child curious about social phenomena,
starting with the family and moving on to wider
spaces * to nurture the curiosity and creativity of
the child particularly in relation to the natural
environment(including artifacts and people); * to
develop an awareness about environmental
issues; * to engage the child in exploratory and
hands-on activities to acquire basic cognitive
and psychomotor skills through observation,
classification, inference, etc.

Brings futile discussion among learners is one of
the biggest drawbacks of socialised recitation
method. Some of the benefits of socialised
recitation method are —

a) proper attitudes skills and ideals - socialised
recitation method develops proper attitude, skills
and ideals.

b) Socialisation of child - socialised recitation
traind pupils for participation in social
environment  which  implies freedom in
conversation, readiness to mix in friendly groups
and ability to work with others for a common
cause.

c) Training in leadership - socialised recitation
method imparts training in initiative and
leadership. In socialised reaction ample
opportunities are provided for pupil leadership
and pupil planning.

d) Spirit of cooperation - this method is possible
only when pupils cooperate with one another as
well as with their teacher. This develops the
spirit of cooperation.

The main aim of studying EVS as an integrated
environmental science is to be aware and be
able to relate to natural and socio-cultural
environment. Our participation and awareness is
a very important aspect which protects
environment. At present such awareness is only
beginning to develop. Ignorance has led to a lot
of problems and it is the duty of every human
being to protect the environment for the coming
generations.

If most of the students are unable to perform
well in a test, then there could be a problem in
the way of making students understand a
particular concept and the way of assessing
those students for that concept. Different topics
are needed to be evaluated in ways that are
specific for them.

A suspension is a heterogenous mixture in
which the solute particles do not dissolve but
remain suspended throughout the bulk of the
medium. Particles of a suspension are visible to
the naked eye.

The main objective behind the given activity is of
course to develop the classification skill of the
children. Along with the classification, as the
task is to shade the amphibians, the children
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Ans.102(A)

Ans.103(C)

Ans.104(C)

Ans.105(C)

Ans.106(D)

Ans.107(C)

Ans.108(C)

Ans.109(B)

Ans.110(D)

may do it according to their creativity as well as
interest. Some children may shade it merely with
pencil; others may do the same with help of
colors etc. Hence the main objective of this
activity is to develop the creativity as well as
classification skill of the children.

Distance is a scalar quantity and it can never be
negative as it does not consider magnitude
unlike displacement.

It is calculated as a product of speed of an
object and time taken by an object to reach a
particular point. It is expressed as Km/Hr.

The amount of salt available in oceans makes
water denser than the river water.

This increases the density of seawater which in
turn makes you more buoyant in seawater. This
is the reason people float in the dead sea.

Shah Jahan built Red Fort. Red Fort is a historic
fort in the city of Delhi in India. It was the main
residence of the emperors of the Mughal
dynasty for nearly 200 years, until 1856. It is
located in the center of Delhi and houses a
number of museums. Ustad Ahmad Lahouri was
Designer of RedFort.

Acid rain is caused by a chemical reaction that
begins when compounds like sulfur dioxide and
nitrogen oxides are released into the air. These
substances can rise very high into the
atmosphere, where they mix and react with
water, oxygen, and other chemicals to form
more acidic pollutants, known as acid rain.
Distillation is a commonly used method for
purifying liquids and separating mixtures of
liquids into their individual components. It is
used to purify the sea water.

The maximum percentage of fresh water is
present in the polar ice. Snowmelt is one of the
major factors in the global water movement. It
sometimes responsible for the river streamflow
while evaporation leads to rain but it doesn'’t
contribute well for the global movement. Global
warming also causes snowmelt in various ways.
The EVS subject has two parts namely Science
and Social science. The Science part of the EVS
develops skills such as classification of objects,
Quantitative assessment, Thinking and
observation. On the other hand, the social
science part of EVS develops social values in
children. It helps the child to know about the
environment in which he/she is living, the need
for keeping the environment clean, and other
civic responsibilities. Hence among the given
tasks, the task given in option ‘c’ is developed by
social science part of EVS.

The major drawbacks of applying project method
in teaching are - - project method focuses on
practical work more which in turn results in less
theoretical knowledge there is a lack of progress
in instructing the work of project. It is very
difficult to instruct each and every student
repetitively. - project method requires the
guidance of highly qualified teacher. It is very
difficult to impart training to all teachers. - it is
very difficult to formulate project method it
requires long time also to formulate.

NCF (2005) suggest that book should be
designed in a way to give children a lot of space
to explore and learn by way of thinking,
observing and doing.

- children should provided with the opportunities
to express, learn by doing, asking question and
experiment language to be used in the books
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should not be formal, but it should be such that
children can understand it easily.

- EVS books should contain chapters made out
of real life incidents, everyday challenges and
contemporary issues related to petrol, fuel,water,
forest, protection of animals, pollution etc.
National Park and Sanctuaries are called In-Situ
conservation. It can be defined as the
conservation of plants and animals in their
natural ecosystem or even man-made
ecosystem, where they naturally occur.
Discussion stimulate the critical thinking. While,
discussing a teacher develops a rapport with his
students by showing that he admires their
efforts, and at the same time gives them a
challenge to think deeply and articulate their
ideas clearly. Discussion provides an opportunity
to gain knowledge from others and understand
ideas and concepts from different perspectives.
Remembering the concept is not an element of
active learning. The teacher should let students
discover by themselves through the element/
component of learning of EVS such as
observation, exploring, experimenting,
questioning, etc. Learning is the process of
acquiring new or modifying existing knowledge,
behaviours, skills, values, or preferences.

The feature of survey and write provides
students a chance to explore and understand
their surroundings better. It allows them to
collect data about the trends of the environment
and document it.

Raigad is a hill fort situated in Maharashtra.
Shivaji built this fort and made it his capital in
1674 when he was crowned as the King of the
Maratha Kingdom which later developed into the
Maratha Empire, eventually covering much of
western and central India.

Given mass = 60 kg as we know, Weight

= mass x acceleration due to gravity

On moon the gravity is approx 1/6 as compared
to earth that is 9.8/6m/s2

Weight of that object on moon = 60 x 9.8/6
=98N

The speed of an object is the magnitude of its
velocity. Speed is a scalar quantity.

A vector is a physical quantity that has both a
magnitude and a direction. These two quantities,
the speed and direction of the car, (a magnitude
and a direction) together form a vector we call
velocity. Examples of scalar quantities: mass
has only a value, no direction.

Chitra kathi painting - this painting belongs to
Maharashtra, through this painting a story is
depicted. In this painting only natural colors are
used.

Madhubani painting- it belongs to Bihar in this
painting natural things like leaf, flower, animals,
birds and humans are depicted. Natural colours
and paste of rice are used to glorify the
painting.

Kalamkari painting - this painting belongs to
Andhra Pradesh, natural colors are used and
done on cloth as blocks printing.

Pata painting - it is found in Orissa, natural
colors from minerals and vegetables are used
and is done on cloth.

BOD3 stands for "3-day Biochemical Oxygen
Demand."

It is a chemical procedure for determining the
amount of dissolved oxygen needed by aerobic
biological organisms in a body of water to break
down organic material present in a given water
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Ans.130(B)

Ans.131(C)

Ans.132(D)

Ans.133(B)
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Ans.135(C)

Ans.136(C)

Ans.137(A)

sample at certain temperature over a specific
time period.

By demonstrating spiny leaves a teacher is
teaching about Xerophytic plants. A xerophyte is
a species of plant that has adapted to survive in
an environment with little liquid water, such as a
desert or an ice- or snow-covered region in the
Alps or the Arctic.

Environment Day is celebrated on June 5
Photo-synthesis in plants is the highest in red
light.

Phosphorus, Vitamins 'A’, Vitamin 'C' are found
in Bhindi.

India has the most common area under fruits

To protect the environment, the Chipko
movement is related to Uttarakhand.

Plant is biological component.

Compost is not an example of chemical fertilizer
Our environment has the highest concentration
of nitrogen gas.

Sulfur dioxide acid is the major pollution of the
year.

NCTE the aim of education is to maintain the
level of education.

Species in danger of extinction and whose
survival is unlikely if the casual factors continue
operating, included are species whose number.
have been reduced to a critical level or whose
habitats have been so drastically reduced that
they are deemed to be in immediate danger of
extinction.

Many things which we consider as waste for
example destroyed shoes, socks, plastic boxes
and so on could now be valuable to make
diverse specialty things. In view of kids'
innovativeness ‘for instance, youngsters utilize
even old shoes to make 'elastic stamp' through
the accompanying advances. This idea of
converting waste items into new one through
creativity is called as Slipper stamp and it is
used as tool for creative expression, whereas
rating scales, schedules, and score cars are
used as tools for observation method.

Law of readiness comes under Thorndike’s
Laws of learning. Law of similarity - similar ideas
and experiences gets associated together.
Example- a photo reminds us of the person
when it represents. Law of proximity - perceptual
groups are favoured according to the nearness
of their respective parts. Items form groups if
they are spaced together.

Law of contrasts- perception or an idea tends to
suggest its contrary opposite. Example - heat of
summers suggests the cold of winters.

When same lemon and egg are placed in water
in which good amount of salt is present will float
in water. This phenomenon can be explained by
density, but in simple words it can be
understood as the thing which will be heavier
than water will sink and thing which will be
lighter will float on the water surface.

During a class, frequent and probing questions
initiate discussions and enhance the thinking
skills of students. By asking the different
questions from the student a student should be
able to answer different type of questions and
his/her power of chinking develops.

Playing with puzzles is a mental activity by
which a student gets confused but eager to
know about it and he enjoy the whole activity.
After the lunch break, while teaching EVS, you
find that students are not taking interest in the
lesson then teacher has to develop interest
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towards study without stressing them therefore

audio-visual aids based on multiple intelligences DAI L SLIDES
is best method to create interest in the lesson.
Ans.138(B) Telling the children about the organisations (SUBJECT WlSE)

working working for the environment is not the
primary objective of the environmental
education. There are many objectives of
environmental education such as  providing the
basic understanding of the environment and its
interrelationship  with  humans; developing
sensibility towards the environment; and making
learners aware of the environmental problems
and developing skills to solve them.

Ans.139(C) Tiger is India's national animal.

Ans.140(C) Sea weed is an important source of iodine

Ans.141(A) The minimum marriage age of boys and girls is
21 years and 18 years in India.

Ans.142(D) Vyasa is the compiler of the Vedas, who
arranged the four kinds of mantras into four
Samhitas (Collections). There are four Vedas:
the Rigveda, the Yajurveda, the Samaveda and
the Atharvaveda.

Ans.143(B) Kalibangan is a part of the ancient Indus Valley £ 53 Different Slides Brand Promotion _ Highly Engaging
Civilization, located in present Hanumangarh [ Price: 2 5,999/- for 6 Month (10 Slides)]
district Rajasthan

Ans.144(B) The 24th and last tirthankara of present half-

cycle was Mahavira swami (599-527 BC) DAI LY NEWS
Ans.145(C) Asiatic lions were once distributed upto the state

of West Bengal in east and Rewa in Madhya ANALYSIS

Pradesh, in central India. At present Gir National
Park and Wildlife Sanctuary is the only abode of
the Asiatic lion.

Ans.146(B) The park covers a vast geographical area of 859
sq km. Kaziranga National Park is famous for its
profound wildlife including one horn rhinoceros,
tiger, swamp deer, water buffalo, elephant and a
large number of bird species.

Ans.147(A) At its closest point, Earth swings to within
91,398,199 miles (147,091,144 km) of the sun.
Earth is at perihelion, closest to the Sun around
January 4, and at aphelion, farthest from the
Sun, around July 4.

Ans.148(C) Agra - Yamuna River
Patna - Ganga River
Kolkata - Hugli River

Ans.149(B) Article 16 assures equality of opportunity in p
matters of public employment and prevents the Price: Z 8,499/~ for 6 Month
State from any sort of discrimination on the QJ —

grounds of religion, race, caste, sex, descent,
place of birth, residence or any of them.

Ans.150(B) Article 51 ensure that the State shall strive for
the promotion and maintenance of international STUDY
peace and security, just and honourable
relations  between nations, respect for MATERIAL KIT

international law and treaty obligations, as well
as settlement of international disputes by
arbitration.
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9l B BT DR | Ugel [~RfeIRad fAcl &l &9 9§ Ug |
9 gRAPT § 150 TR €, S & gt dfa Wit 3§ farfoa € |

Part-(1): Child Development & Pedagogy (30 Questions)

Part-(Il): Language | (English Language) (30 Questions)

Part-(lll): Language Il (Hindi Language) (30 Questions)

Part-(IV): Mathematics and Science (for Mathematics and Science teacher) (60 Questions)
OR

Part-(V): Social Studies/Social Science (for Social Studies/Social Science teacher) (60 Questions)
1 7R ARt € q HaS TR 3 |
el BT A BIAT TR B I TSl AUBT 59 GRABI B ST@ Bl Moy IR I8 GAREd - A1ty b s+ |
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B 1 ores R SreT 9HY e AT |

(11) AEEa BF R IRReE HIR IUSBRYT, Wil Hel/HR H [ R W UEfSd § | dig A1 o1dgd (U4 Aldsd &1 a1
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Part-(1): Child Development & Pedagog

e A Qo1 a1 ftre @ Teifid T8 &
(A) 3ifTe ik §

(B) A% ufed ¥ siftna e A= Y @
(C) 3T TS §

(D) 3MfITH T Tipg ufpar 8

q@nwﬁwfﬂa% -
(A) TR I
(CELGRIE (D)

TP TA HeT  ATIHT 7 aredd g2

(A) &1 3 e hg W e ol &

(B) UeA & forg enfifer wreht udt St @

(C) UTSIHH T T ¥ UTer -Tal giT &

(D) fafaear 3ik yRvitgar &1 7w Rrarar oar 8

Yrarstt & IR & Fofifad § § oF 11 sy 98t 82

(A) TAS SHifad sfta 7 HIgATE Ai[g gl &
(B)wgamaﬁma@% 3R 3 U ol & g ol & forg
T B

(€) HTaTe fasg & Wt =Roif & Aigg § SR gar & -y
g5 ¥ +ff 3T & waelt §

(D) T Bt HIG-TT S kg P! HIG-T3H I FH ¢ Tl &

T BT HH I gh g4 IRUT & JeH § gHaT & Faryd
FI SR THFA P AR A1 7, S g o fafe sfet @

(B) IR I
ol I

U R4 8, W fob =fP, gqur, e anfe
(A) &AM (B) foaR
(C) YR (D) HTST

IR & ey H Ffifad 7 @ S 916U 98t T8 22

(A) SRUT 5t R wie & Ui oaeR &1 FaRd Bl §
(B) ORUN R fafafg! Y gand ok Tedr § & € ot §
(C) TRUI 3R TR o Serdl 8

(D) ORUN YT Ufeharall &) gHIfdd Bl @

it Ry die a1 fufd & e o o =i off Higg &

Tl § for o forg =Ror W R et 87
(A) URfYH Qgraeprat (B) 74 QdHhTad
(C) TR1GHTA (D) TTTBAT

3R 3{EHT-3fAT Sfeerany 3R fawa a¥g &t uepfa Fuffead & 3
g T 8 82

(A) SUARTEHS FRI&01

(B) SHTTH & forg Wi iftres feme

(©) fadfea srgw

(D) IRTIRS Rrefor

Ife 1 5= favrd gidT1 ® o a8 w1 3fd T @
(A) S 9 3fegg =gl

(B) TUTGH fAPa BT TS ®

(€) 5= B gl Y 3R e =i

(D) T ! T fARIY W ot & RN HRAT

LT UfhaT & TETIH BRS $IF T 87

(A) 3 M (B) ITTGRUT

(C) SRS (D) ST Tqaft

Tfe fpdt wpa § RivT-ifd ureTeaf g A 38 ... Bdre-
(A) FAFGT (B) ¥gu@

(C) THTSHEHRT (D) SWad Tuft

TSR & g faral & RIGid & SIER, Tydiel & forg e &
Y fr g 31 e 3 o |

(A) HTOTS (B) IREND

(C) Upfarardt (D) TR -Tfr=ierar
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HFRTH ¥ Yo & We & e B 4 o W Hu- 9 8|

(A) 3 ARG Jedihd & =g o off ST Sl 8

(B) &/, B T 39 BET & WY ISP T&=H & 3MUR W
e Rl g

(© ﬁrwmﬁﬁﬂémisﬂwmmw

HeUich HRaT g
(D) T it

5 7 I S gad Td U g § SEita T8 82

(A) W-Tegie & e fawaR uam &=

(B) e D TRI&0T SRRTH UfshaT &1 T [Reb fgd ST
(C) W & qifesd A ST 3@ 1

(D) e 3R SUER & A1 ¥ B &I Iuafsy & JuR & fow
Tich BT STANT HRAT

s g=if & Yo # o T HYT T 37
(A) 9 3T fFTIRS & (B) 3 3R} faRes §
(OEEI:CI (D) 3 IR §

grTfores- 3 ¥ U § dfd Tyl & o arel St &1 Hen |
T 37T Rarb 1 HT-

(A) ITHT U & I FI galdIed od ¢ oy & I
TRIURT B1 UTT WG T

(B) KT IR B! T HA g I WD I R
& Hied Hd 8

(C) 3% 3 AR Al &I g F Rrerd &
(D)mwaﬁﬁsﬁ&naﬁsﬁ?mmﬁ@ﬁ%wuw
FIER HY

s SR ufaum=me o=t &) Teiftd w37 /g e o gr
HEM P SIENTH IATaRYT B Sed qhdl 8:

(A) 38R 81 8 S UIT: Sicar

(B) 3 T BT ITANT T foTg B O FIRMT & A1y
R R GHd &

(C) 39 T o 3 IHT & AW TR o R A1 918 &
(D) T Tt

% Rerd g F A1 oy Renfiat @ are [, IHgE, @
HR, FARAUr A, T B, Goid BT AR T 3R
R & oI e & te Ge &1 Ul &1 WR aH $igd Ha
T ST SH TN & 54 JHEH BT UTeH I 67
(A) YTaTHS & (B) ITTHS FH&ET
(€) TIRS JHaT (D) TTH A B

Tt ofR siftifamama ufkiemn frads a1 gen 5
(A) g &I Higd BT

(B) AR Hadl dfed 8

(C) =T &fturar uikd 8=

(D) TreH &t faswanTar afed &=

(A) &t 7ifa & Ra= arel §

(B) UfqyT=eh =i

(C) THATHS s=t 9

(D) 3=t ¥ &9 YHadr U= arel 9

___ &1 PR TP ThdAr IUHIT BT gl dfcs T Aar
IR TF ES &:
(A) URAR

(C) SIS

(A) SiRad
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(B) eg 3R 37 3
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Tgell YR fobeT Faeh H ot o Ihdll 87

(A) FfSHT 3R Feryfa (B) ST 3R T
(C) THTHADAT 3R FaATT (D) THAT 3R &R

Fa & 1S Yraelf § ¥ o F HieT U PR & SrHal /g
T IUYH &-

(A) STa &1 IRAfdHdr Bl AT

(B) W8 & IR H fefa1 &1

(C) T-TYTfiepRuT

(D) S DI HIGHT g

TP Igabieud Uy H, TP I YHIfdd IR IR 8Id 8 aAfcp
wﬁ%wﬂﬁa‘mﬁwﬁﬁmﬁ%m\mﬁmw
Pt T BT YT HRAT GHIT?

(A) SR (B) 3TNRI A
(C) ST A (D) 3 T

IR Ayl § Fifes -

(A) T8 fUsd I IR T IH & T Fae RAfd &ar g
(B) TE el H 31T I SIg< Bl T 3] il §
(C) T8 Ranfifdi &1 aifes gfgwmn quf seman 2

(D) T8 &I B P&l L& A & Y T el &

g & el A Fafifad & 4 o9 1 oy 98 22

(A) HTETT3TT 3R e b1 Hie ey g

(B) T@mﬂuﬁaﬁﬁm%ﬁ%mma@w
Tl g

(C) {1 Sfed § 3R Fradt Hifde g &

(D) SR PI3 WG g1 &

ot & Few oiR srfand Rien sfdfam, 2000 & fieR &
Sfarf <sg 1 o1 §-

(A) Tr-frar & sfard w9 § g FRaE § I3 F fag
3 gt I faeTera Hom & foe TeTeR fova ST §

(B) SUGFd IHR Wi e & wawr, Iuffy oik o= &t
gRfya Haft

© %ﬁwmﬁaﬁﬁ&nim,m@rﬁaﬁ?waﬁ

gfa
(D) 3ifrard e FRAR Tierur & ey UM &t S

TG BT a1 RTH SR T -
(A)Waawwﬁuﬁa?hm
(B) Tl R
(C)Uﬁ@mg UfoRETUT 1 Tt TR

(D) TR SU&TSf & TeRo TR

English Languag

The Right of Children to Free and Compulsory
Education Act, 2009 has included ‘all round
development of the child as one of the aims of
education because.

(A) every child grows rapidly between six to fourteen
years

(B) proper health care is essential

(C) it nurtures the physical, mental an devotional
aspects of the child

(D) it ensures that every child is a part of a workforce

Linguistic principles of English language include
(A) Principle of naturalness

(B) Principle of habit formation

(C) Principle of oral-approach

(D) All of these

Which one of the following should not be done while
helping pupils with learning difficulties?

(A) Teachers must keep in close contact with other
teacher to discuss to improve pupils’ learning behavior
(B) Teacher should provide home tuitions

(C) Teacher have to explain to the parents about the
characteristics and abilities of pupils

bit.1
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(D) Teacher should assess the progress the pupils
regularly and systematically

One of the tasks of the teacher in Communicative
Language Teaching is to.

(A) collect information about the social background of
the

(B) determine the language needs of the learners

(C) provide suitable classrooms to the learners

(D) send progress reports to the learners' parents

Kindergarten method of teaching writing was developed

by .
(A) Froebel (B) Horsebug
(C) Plato (D) Aristotle

Direction (36-44) Read the following passage and answer

the questions that follow. Some words are highlighted
to help you answer some of the questions.

You would have noticed that people have different
ideas about what politics is. Political leaders, and
persons who contest elections and hold political office,
may argue that it is a kind of public service. Some
others associate politics with manipulation and intrigue
undertaken to pursue ambitions and satisfy wants. A
few thinks of politics as what politicians do. If they see
politicians defecting from parties, making false
promises and tall claims, manipulating different
sections, pursuing personal or group interests ruthlessly
and in worst cases stooping to crime, they link politics
with ‘scams’. So prevalent is this way of thinking that
when we see people in different walks of life trying to
promote their interests by any means possible, we say
they are playing politics. If we see a cricketer
manipulating to stay in the team, or a fellow student
trying to use his father's position, or a colleague in
office mindlessly agreeing with the boss, we say he or
she is playing ‘dirty’ politics. Disillusioned by such
pursuits of selfishness we despair of politics. We say, “I
am not interested in politics” or “| am going to stay away
from politics”. It is not only ordinary people who despair
of politics; even businessmen and entrepreneurs
routinely blame politics for their woes even as they
benefit from and fund various political parties. Cinema
stars also complain of politics though they seem to be
adept at the game once they join it.

It is unfortunate that politics has come to be associated
with the pursuit of self-interest by any and every
method. We need to realise that politics is an important
and integral part of any society. Mahatma

Gandhi once observed that politics envelops us like the
coils of a snake and there is no other way out but to
wrestle with it. No society can exist without some form
of political organisation and collective decision making.
A society that wants to sustain itself needs to consider
the multiple needs and interests of its members.
Several social institutions such as the family, tribes and
economic institutions, have emerged to help people
fulfil their needs and aspirations. Such institutions help
us find ways of living together acknowledging our
obligations to each other. Among such institutions,
governments play an important part. How governments
are formed and how they function is thus an important
focus of politics.

But politics is not confined to the affairs of government.
In fact, what governments do is relevant because it
affects the lives of the people in many ways. We see
that governments determine our economic policy and
foreign policy and educational policy. These policies
can help to improve the lives of people, but an
inefficient or corrupt government can also endanger
people’s lives and security. If the government in power
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allows any conflicts to become violent, markets close,
and schools are shut. These disrupt our lives; we
cannot buy things that we may need urgently; those
who are sick cannot reach the hospital; even the school
schedule gets affected, syllabi cannot be completed,
and we may have to take extra coaching for the exams
and pay tuition fees. If, on the other hand, the
government makes policies to increase literacy and
employment, we may get an opportunity to go to a good
school and get a decent job.

Since the actions of the government affect us deeply,
we take a lively interest in what governments do. We
form associations and organise campaigns to articulate
our demands. We negotiate with others and try to
shape the goals that governments pursue. When we
disagree with the policies of the government, we protest
and organise demonstrations to persuade the
government to change the existing laws. We
passionately debate the actions of our representatives
and discuss whether corruption has increased or
decreased. We ask whether corruption can be rooted
out; whether reservations for specific groups are just or
not. We try to understand why some parties and
leaders win elections. In this way we look for the
rationale underlying the prevalent chaos and decay and
aspire to create a better world.

Which of the following options mentions the correct
definition of politics?

(A) Itis a kind of public service.

(B) It is the manipulation and intrigue undertaken to
pursue ambitions and satisfy wants.

(C) It is a sort of ‘scams’ where politicians defect from
parties, make false promises and tall claims,
manipulate different sections, pursue personal or group
interests ruthlessly and stoop to crime.

(D) It is a thing which arises from the fact that we have
different visions of what is just and desirable for us and
our society and involve multiple negotiations that go on
in society through which collective decisions are made.

Which of the following options mention the hypocrisy
highlighted by the author in the passage?

(I) People are disillusioned with the definition of politics.
(I) Some people, who despair of politics, benefit from
and fund various political parties.

(1) People judges politics with what politicians do.

(IV) Persons who earlier used to complain of politics
become adept at the game once they join it.

(A) Only ()

(B) Both (II) and (1V)

(C) Both (1l1) and (1I)

(D) All of (1), (11), (1) and (1V)

Which of the following options mention(s) the most
prevalent perception about politics among people?

() It is a thing which arises from the fact that we have
different visions of what is just and desirable for us and
our society and involve multiple negotiations that go on
in society through which collective decisions are made.
(1) Pursuit of self-interest by any and every method.

(1) Politics envelops us like the coils of a snake and
there is no other way out but to wrestle with it.

(A) Only (I) (B) Only (II)

(C) Only (111 (D) Both (1) and (lII)

Which of the following situations is the most ideal
situation for politics?

() On an issue having relevance for the whole society,
consensus has been reached among people having
different opinion.

(I1) On an issue having relevance for the whole society,
consensus has not been reached but different groups of

4|Page
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people having different opinions have decided to
continue negotiations.

(I11) On an issue having relevance for the whole society,
consensus has not been reached but one group among
the different groups having different opinions has
decided to organize nation-wide bandh.

(A) Only (111) (B) Both (1) and (lI)

(C) Only (I (D) None of (1), (II) and (llI)

Which of the following situations illustrates the
prevalent perception about politics among people but
not the correct definition?

() A bank customer uses his acquaintance to bypass
long queue at the customer service counter.

(1) An uncle of Ravish, working as the Senior Manager
at a Telecommunication company, uses his
connections to help him get a new mobile connection at
a lightning fast speed.

(I1y A group of people providing free meals three times
a day to poor people every day.

(A) Only (I) & (1) (B) Only (1)

(C) Only (I (D) All of (1), (1) & (111)

Which of the followings is false?

(A) Politics is confined to the affairs of government.

(B) A society that wants to sustain itself needs to
consider the multiple needs and interests of its
members.

(C) Politics is an important and integral part of a
society.

(D) How governments are formed and how they
function is an important focus of politics.

Choose a word from the given options which means
almost the same as the word “intrigue” used in the

passage?
(A) Spectre (B) Onus
(C) Despair (D) Unscrupulousness

Choose a word from the given options which means
antonym as the word “stooping” used in the passage?
(A) Manipulating (B) Concocting

(C) Contriving (D) strengthen

Choose a word from the given options which means
antonym as the word “prevalent” used in the passage?
(A) current (B) customary

(C) stock (D) unconventional

Direction (45-50) Read the passage carefully and answer

45,

46.

47.

the questions that follow by selecting the correct/most
appropriate options.

Little drops of water, Little grains of sand, Make the
mighty ocean and the pleasant land. Thus, the little
minutes, Humble though they be, Make the mighty ages
Of eternity. Little deeds of kindness Little words of love
Help to make earth happy Like the heaven above.

The poem uses a rhyme scheme. Which lines of the
poem rhyme?

(A) Lines 1 and 2
(C) Lines 2 and 4

(B) Lines1and 3
(D) Lines 3and 4

Which choice best represents the message that is in
the poem?

(A) The minutes tick by slowly.

(B) Never underestimate the power of a child.

(C) Drops of water and grains of sand are very small.
(D) The small things are as important as the big things.

The word HUMBLE in the poem most likely means:
(A) large in appearance
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(B) lower in importance
(C) a part of a larger whole
(D) too small to see with your eyes

48.  “Like the heaven above” is an example of?
(A) Onomatopoeia (B) Simile
(C) Repetition (D) Personification

49.  According to the poem as drops related to ocean,
minutes is related to?

(A) Past (B) Present
(C) Future (D) Eternity
50.  “though they be” is an example of?

(A) Onomatopoeia
(C) Repetition

(B) Alliteration
(D) Personification

51. If the students of your class show least interest in your
subject, as a teacher which strategy will you follow to
make the class interactive and interesting?

(A) Autocratic teaching strategy
(B) Democratic teaching strategy
(C) Heuristic method

(D) Lecture Method

Direction (52-60) Answer the following questions by selecting
the most appropriate option.

52.  The second language course is organized on elements
of human society and the natural world, without relying
on printed text. This is called the method.
(A) situational (B) natural
(C) grammar-translation (D) language immersion

53.  Which one of the following is not a principle of helping
pupils with learning difficulties?
(A) Teaching preparation
(B) Design meaningful learning situations
(C) Teacher provide home tuitions
(D) Use teaching aids

54. Bilingual method was suggested by.
(A) Dodson (B) Smith
(C) Herbert (D) Reason

55.  Which method is based on the theory “from example to
generalization”?
(A) Deductive method
(B) Inductive method
(C) Inductive-deductive method
(D) Incident method

56. Some parents have unrealistic expectation of their
children’s performance, in such case what should a
teacher do?

(A) Teacher has to try fulfill these expectation

(B) Teacher has to explain the situation to school
principal.

(C) Teacher has to advise the pupil to try more.

(D) Teacher has to explain to the parents about the
characteristic and ability of pupil.

57. Teachers must keep in contact with parents to help
them understand their children and to provide
appropriate guidance to develop the pupil’s
(A) intelligence (B) potentials
(C) farsightedness (D) memory

58.  Which factor belongs to the teacher?
(A) Availability of guidance
(B) Socio-economic background
(C) Professional efficiency
(D) Intellectual ability
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: Child Development & Pedagog
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: Language | (English Languag

The Right of Children to Free and Compulsory
Education Act, 2009 has included ‘all round
development of the child’ as one of the aims of
education because it nurtures the physical,
mental an devotional aspects of the child.It
provides for development of curriculum which
would ensure the all-round development of the
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child, building on the child's knowledge,
potentiality and talent and making the child free
of fear, trauma and anxiety through a system of
child friendly and child centred learning.

The principles are the roots, the sources and
origin of any subsequent edifice of knowledge
and human activity. They provide the guidelines
and a foundational ground work to the English
teacher. Linguistic principles of English
language include

a. Principle of defining goals properly

b. Principle of naturalness

c. Principle of habit formation

d. Principle of proper order

e. Principle of oral-approach

f. Principle of motivation

etc. they are like the light house to the
educational ships in the vast sea of existence.

In order to help pupils with learning difficulties,
the school must liaise closely with parents. In
case of the parents having an unrealistic
expectation of their children, remedial teachers
have to explain to them about the characteristics
and abilities of pupils, rather than giving home
tuition to them so that they may help their
children to learn in a pleasurable manner.
Teachers must keep in close contact with other
teachers to discuss to improve pupils’ learning
behavior and they should assess the progress
the pupils regularly and systematically.
Communicative language teaching is an
approach to language teaching that emphasizes
interaction as both the means and the ultimate
goal of study. One of the tasks of the teacher in
Communicative Language Teaching is to
determine the language needs of the learners.
Kindergarten method of teaching writing was
developed by Froebel. This method favors
learning by doing. Students are given plastic and
wooden blocks of alphabet, shapes etc. and
they are asked to join them in sequence.

The answer to the question can be derived from
the first two sentences of the last paragraph ‘to
sum up, politics arises from the fact we have
different visions of what is just and desirable for
us and our society. It involves the multiple
negotiations that go on in society through which
collective decisions are made’. Options (a), (b)
and (c) reflect the misconception about politics.
The answer to the question can be derived from
the last two sentences of the first paragraph ‘it is
not only ordinary people who despair of politics;
even businessmen and entrepreneurs routinely
blame politics for their woes even as they benefit
from and fund various political parties. Cinema
stars also complain of politics though they seem
to be adept at the game once they join it'.

The statements (II) and (IV) can be derived from
the above-mentioned sentences.

The statements (I) and (lll) don’t fall under the
definition of hypocrisy.

The answer to the question can be derived from
the first sentence of the third paragraph ‘It is
unfortunate that politcs has come to be
associated with the pursuit of self-interest by any
and every method’. Thus, statement (Il) is
correct and option B is the correct answer.

First, let's understand what politics is. To
understand this, we need to refer to the first two
sentences of the last paragraph ‘To sum up,
politics arises from the fact that we have
different visions of what is just and desirable for
us and our society. It involves the multiple

Ans.40(A)

Ans.41(A)

Ans.42(D)

Ans.43(D)

Ans.44(D)

2|Page

negotiations that go on in society through which
collective decisions are made.” In the given
situations, there is an issue on which different
people have different opinion but in the situation
marked as (), a consensus has been reached
among people which facilitate  making
a collective decision while in the situation
marked as (lll), a chaos seems to be created
which as mentioned in the fourth paragraph is
termed as bad politics.

The answer to the question can be derived from
the first sentence of the third paragraph ‘It is
unfortunate that politics has come to be
associated with the pursuit of self-interest by any
and every method’, and from few sentences of
the first paragraph: ‘If we see a cricketer
manipulating to stay in the team, or a fellow
student trying to use his father’s position, or a
colleague in office mindlessly agreeing with the
boss, we say he or she is playing ‘dirty’ politics.’
Upon analyzing the above, we can understand
that the prevalent perception about politics is the
pursuit of self-interest by any and every method.
The statements (I) and (l) correctly illustrate the
prevalent perception about politics among the
people.

The first sentence of the fourth paragraph says,
‘But politics is not confined to the affairs of
government’. Clearly, option A is FALSE.

The options (b), (c) and (d) are true as they are
present as sentences in the third paragraph.
Intrigue [noun] means ‘the secret planning of
something illicit or detrimental’;

Spectre [noun] means ‘a ghost’;

Onus [noun] means ‘something that is one’s
duty or responsibility’;

Despair [noun] means ‘the complete loss or
absence of hope’;

Unscrupulousness [noun] means ‘the state of
being unscrupulous (a person who has contempt
for laws of right or justice’;

From above, it could be understood that the
word ‘unscrupulousness’ has a meaning which
is SIMILAR to the meaning of the word
‘intrigue’.

‘Stooping’ [stoop, verb] means ‘lower one’s
moral standards so far as to do something
reprehensible’;

Manipulating [manipulate, verb] means ‘handle
or control (a tool, mechanism, information, etc.)
in a skillful manner’; ‘control or influence (a
person or situation) cleverly or unscrupulously’;
Concocting [concoct, verb] means ‘create or
devise (a story or plan)’;

Contriving [contrive, verb] means ‘create or bring
about (an object or a situation) by deliberate use
of skill and artifice; manage to do something
foolish or create an undesirable situation’;

From above, it could be understood that among
the given options, the word ‘strengthen’ has a
meaning which is OPPOSITE to the meaning of
the word ‘stooping’.

prevalent means widespread in a particular area
or at a particular time.

For example -the social ills prevalent in society
today customary means according to the
customs or usual practices associated with a
particular  society, place, or set of
circumstances. For example - It is customary to
mark an occasion like this with a toast. From
above, it could be understood that among the
given options, the word ‘unconventional’ has a
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meaning which is OPPOSITE to the meaning of Ans.58(C)  Professional efficiency is the factor belongs to
the word ‘prevalent’. the teacher; while others are the factors belong
Ans.45(C) Lines 2 and 4 have rhyming words so they to the students.
rhyme with each other. Ans.59(B) The psychology of learning “Behaviorism” is
Ans.46(D) The whole poem is all about the importance of related to the learning. It is the way through
the small things. which the art of using skill and practice is given
Ans.47(B)  The word ‘humble’ in this context means “lower to learn. Psychology of learning; (1) Behaviorism
in importance”. and (2) Cognitivism
Ans.48(B) Simile is a figure of speech involving the Ans.60(D)  Continues and comprehensive Evaluation (CCE)
comparison of one thing with another thing of a is a school-based assessment which covers all
different kind, used to make a description more aspects of student’s development. The two main
emphatic or vivid (e.g. as brave as a lion). Here objective of CCE are continuity in assessment
the earth is compare to the heaven. and broad-based learning. CCE helps in
Ans.49(D) The second stanza talks about the minutes reducing stress because it;
being an component of the ‘eternity’. * jdentifies learning progress of students at
Ans.50(B) Alliteration is the occurrence of the same letter regular intervals and on small portions of content
or sound at the beginning of adjacent or closely at a time.
connected words. Here the sound ‘th’ is * employs a wide variety of remedial measures
repeated several times. based on learning needs and potential of
Ans.51(B) As a teacher, we will follow democratic teaching different students.
strategy. This strategy is child-centered. * desists from using negative comments on the
Generally, it stress upon the achievements of student’s performance.
objectives of effective psycho motor domains. * encourages learning through using a variety of
Here, the interaction between the teacher and teaching aids and techniques.
student is the must, individual differences are * seeks active involvement of learners
kept in mind while selecting the strategies. ; T
Hence, importance should be given to the Part-(lll): Language |l (Hindi Language
interest and abilities of the students. These Ans.61(D) fect e & FaER YISk &1 SMeE-UeH el g
strategies encourage the creative abilities of the eI BT ET-USH Sgd THT Ia 3 @l gl f&et
students. , , fR1&701 7 et YE1G & o1 14 BT MR Brelt 61 D
Ans.52(B) The second language course is organized on a0 U fad vy 21 ot SwiaeH daet gael
elements of human society and the natural A 78 frar o1 gHaT 21
world, without relying on printed text. This is Ans.62(D) %wﬁwmﬁwmumaﬁwm
called the natural method. 3 _ USdT & e ST HINT SFHRY F W § e 2
Ans.53(C) The _teacher prowdes homg tumo_ns is not_ a SR R1efp HTT BT TN Y Y & e W SR
p_rlr_wlpl_e of _helplng p_uplls with Ie_arnlng IR TS BT YA Se s &0 & ST ARy
g;?z:r:;(lzttlsﬁ.sticssilr? (igarniFr)1upllzachr;?;/emus?lgs\r/iesnet Ans.63(B) ik il a e : .a;
different learnin acti\?i’ties with the same Wﬁ@ﬁmm%mﬁ&ﬂﬁiaﬂﬁm
teachi rning Ny 4 TS B1 erawy g & WY g5 81 SHST YT QR-
eaching objective to develop pupils' varied o~ . :
Ve . . TS & TMial | fRIeor- SRy B A gl
abilities and skills in problem-solving. It is more EINY : .
effective for teachers to use teaching ai Ans64(C)  R-AW F Mdl A Tpll b Gl EH P T ST
g aids, adopt
a series of relevant and simpl i 7 @1 grand) fRien & o1 ¥E § qu - @
ple  teaching £ o 3 el b G0, UG oM
activities than assigning one long teaching Rl Ad g 'S .
activity since pupils may acquire the required SR H FHI &, o B g off Wl € fo orerT #
knowledge and skills through diversified REREGEL .
actiil® Ans.65(8) X1 1 Rigl SaRi & T S & Sravg o o, g
Ans.54(A)  The bilingual method was suggested by Dodson. & 39 91d F1 WaTE Tl & & W Tpefl & Uerg
The bilingual method of foreign language @%mﬁam@mﬁwm%mﬁﬁ&@%ﬁ
teaching was developed by C.J. Dodson (1967) Tolt aﬂ?f%m:@ﬁﬂlﬁaﬁﬁaﬁé@wqﬁ%sﬂ
as a counterpart of the audiovisual method. HRUI g UgTs H HHEIR &
Ans.55(B)  Inductive method is based on the theory “from Ans.66(C) S 3t i T Y §9 AU Savae g fop fRregor
example to generalization”. In logic, we often s 7 dow o e, sftivraem!, ol Td Rt
refer to the two broad methods of reasoning as IR IR 4R e f&ar Sy Td 3t Sivdl Bl 1
the deductive and inductive approaches. fobar sy
Deductive reasoning works from the more Ans.67(A)  TTsg & (e MR T2 g BT Yo B aldl eG iR Bl
general to the more specific. Sometimes this is IUT HEd § Ud g & 3fd & SR T g BT goid
informally called a “top-down" approach. We PR IS T B U HEd gl
might begin by thinking up a theory about our ey - U + BR = UER = @Ua U 7)
topic of interest. e + % = AP = P YT A T 2 B)
Ans.56(D) Some parents have unrealistic expectation of Ans.68(C) T0eg & 3 T TR T VG DT Joi B dTc G- DI
their children’s performance, in such case UY ded 21 39 YR Wifd & Iy Tgad g arel
teacher has to explain to the parents about the Ty e BT § Srufd el Weg wifashe Bl g
characteristic and ability of pupil, so that they Ans.69(B) TN - 3 Yoa} & N &) AN $ed ¢ forgd-Ugd H g5
may help their children to learn in a pleasurable A g forem - U &1 9w faug - foren oik wsA
manner. BT Fore TH H T g U g1 Ud &l el 1 e
Ans.57(B) Teacher should carefully observe the g R, a1 Ao R qW & 9, 98 §g 99
performances of pupils and give them FEAEI |
appropriate assistance, feedback and Ans.70(A) R Isg, Teat F AT ® 81 §1 IeERvE: -3,
encouragement and have in contact with their H-gPhe | WW&&%WWWﬁB‘W@HI
parents for these activities so as to help them - ] o
acquire the learning skills. o &mj e 1 et rgf 8l
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Ans.71(B)

Ans.72(A)

Ans.73(B)

Ans.74(C)

Ans.75(A)

Ans.76(D)

Ans.77(B)

Ans.78(B)

Ans.79(C)

Ans.80(D)

Ans.81(C)

Ans.82(A)

Ans.83(B)

Ans.84(D)

Ans.85(D)

Ans.86(B)

Ans.87(C)

Ans.88(B)

HETHT Tsg H HHYRY TAMN & | HeTHT Xog &1 fAUS § -
g g S iteqT| o IR ug vy 8 aut gd ug @
IR Ug § ITHH-ITNY 31yqT faRvur-Agsy gra )
wﬁaﬁﬁwwmé@r RUBGHT - HAA P

nﬁ%ﬂa’rﬂmﬂamﬁaﬁﬂgﬁmww%lwﬁ
TETET Sit I SY S & A1 AU & RH W SRIH
oo § 31 ot S pfar & T ¥ IAHT SR SR
M el g
HTARE TGN R BT & HROT HRan e
wuﬁ%wmﬁ@%wumaﬁﬁ |zn%
afon anpieet | g1 A1 fggea §, WeR & & agri
& UG oS-S9 IR BT Aol Udhe B BT HiehT AT
FRRE HN 59 o0 FUIE F THEdYa® UR §5
FHERET el fAReR Tge S BIS o=l AgHH oM W
SIS TS & Uf i eal @t Uoit I g SO HTH
ERIGEIR
T 1 S B AT & SHW SRTURN 327 | ugA
I B 7 df 98 HiFT gdo 7T U & g 95 S
W%wﬁa@ﬁﬂm%m@ﬁﬁﬁmm
T ot
woler) Tee | A IR B 1 SR U + e = TpreRt
B 3R & o9 IRaR fircr) i 81 o) 31 I e
TR FEA T Y - 3 + AHUIT = FTHIT M|
8T eg T WsE §1 Wpa ¥ o et oRada &
%@?&%&ﬁwmaﬁm%laﬁ PIBR, BE,
|
Fo ff Rram 9 gd 3 S sifAard giar fas wme ara
1 fopar 31 3, Foret R o7 oy gt 4 811

T & Ry gl & 3gua B3 3R Je7 & SR
e oM @ I fRufal & wron iy o SraR o fivei|

TR Tfgd Ugd gu 31 Ugu A B TR USH FHel Sl
2| U8 UoT P! URMD =Yl g1 JUfHTeN & Uil i
UgdH, Y& SR & Y S T § T BT 31
ww%mﬁmm%lmmﬁm

IR i i Bt 81 ST H SFHRUT e TR Bl B |
T DIA BT [JBR B & forg T vd fRufd &
STER U ST P HHI sller & HIW & gRT faaRl &
AEH-UGH F T8 IFemar fadt g1 s
feafad &1 e T TRAdH HIEH g1 IS BI e
RIS YT TR Bt 8 | TrifoTes Taieh & Jeg a9
o ud gHIiie Sfiad § giree RIftd &1 o Aifas
UTST 1 T AT B ] 1

Yo7 Rreror Y fafdy fafmf wrer figror & B g T
BIHR T T B 81 3 Rieias FRufay 3R sraxgeat
F YR gt &1 3¢ TN B 1 T

TG BT ufd Sra & W iR afe s= e
HEYY B g, dl I8 Fg! Tel o1 39 b J SgHIftbar
TaTeH & U H ST T8 gl

Siprere fafd ¥ sl & T OR1 a1 R fahat i ]
F[AD SIHIV F gU I & Th-Udh Ve Hferad ¢ |
R a6 H g I a19g & gd U 3§ e S g
qUT ITD Ygdl ST YA foan Srar g1sia § Riersws
BE Bl W P MR W G a1 fore & e pear gl
forg & Hi3E &1 T dgd GBI HRU famithan gt
T&dT g1 Red & S5 el A0 UgdH HR g Bl
el STIRTHSD fRI&0T U BT AT |

Ans.89(A)

Ans.90(B)

3R Tg fRreror Inf Sudsy HRIE ST A 98 AN Th
TG & 9 H g & [ &7 H1f BR Tohell
AT WR R & S 9o ¥ @Wad w9 4
HRIBTRYS YT & A 3R FAS BT TART FHRAFT gl
1 3o syaur Arh 1 BfRIgul ST SrTaRT® B
Sffafkad g Al v # oHEl @) T S 81 wife
Ig fawr ¥ geaw ot 31 gavdt § 3R B & e & fawg
%ﬁmﬁlwré‘rmztnmaﬁﬁa‘rq@éﬁmﬁwmé
|

Part-(1V): Mathematics and Science

Ans.91(C)

Ans.92(B)

Ans.93(D)

Ans.94(C)

Ans.95(D)

Ans.96(B)

Ans.97(A)

Ans.98(D)

Ans.99(D)

Ans.100(C)

FHET 3R A H Ueb o187 3R Bl & | I Y 3R Ans.101(D)
o SEar o Tl ¢ 1 HaT B! Ay o 95t § IHeeR
App :- http://bitly/TesMusPrime 4|Page

"1 fafera=106\18.8 ffera=18.8x106

= 18800000

T GBAT 152 94T 15b & dl, 15a x 15b =675

ab = 3 31§ UFTe 3 Afed PI-0H (1, 3)

TfTT, SMOférd AT (15%1, 15x3) § 3T,

(15,45) 3Id: T IS} W= 45

e & wu & fffa far ot gear &

233 2334 23345 233456 (2334567)

(-2)x(-3)x(-4)x(-5)x (-6) (+6) x (+20) x (-6)
=120 x -6 = -720

T8 &1 &1 &1 31 § TR R o= § UGTS BT Ueh qrdIarul
TIR BT ¢1 g8 Fafiddr ok &fd= ulkem @) sned
faepiid B! 21 8 B Bem § Ug T8 qEl W
3neiRa g =nieul faemdf o=y Sexu & forw oM
PG THT BT ITANT HR Tobd & TYUT 3 38 TUY
PP o B |

TG B SURIS B Te 3R i TwHer ¥ URum
3R B T

IUERTAS e faRiy fRen & T 761 81 STaRIES
el BT IYANT a9y snazadmarstt ad gEl & fag
forur S dT B, A 99 wEl & fre ff SughT
STl & Sif 37d a1 I S &HaIsl & aTacle sl
UG T8 PR Tee IR B B! AR &4 a3 & fow
feomga fou U g1 ewife favw e qedier &
Rrenffat @t sifgdia Sevdio! T &= & o feemza
frarm g

IURHIS Repls gerslf a1 gardl iR TaER &
3fag &1 duUTHS AR § o U 3adied Bl b

[
WW%%@W@W%
eIy & Il Bl
- UIGIshH H RMMAS SIS arell It a1 fawd a¥g &1

Wﬁmmaﬁ%lwm%mﬁmmm
5= & g1 o1 oIl ¢ | SR I8 T & b ureashd
R B éﬁwmﬁwﬁgﬁﬁ@am
gH =Ryl @mwwﬁw%ﬁmaﬁ

HY H SUARTES &0 & =ROT &:
faenfefal @1 fazewor - Rigf1 35y
I H &1 SO « O o

- TeTich
fRreror Trgra Rieror 3ifimy @t ufthar B W 3R s
SN 71 T8 S B Wed Ugiaidl $I O HRedl 5l A7
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Ans.102(A)

Ans.103(A)

Ans.104(B)

Ans.105(B)

Ans.106(D)

Ans.107(A)

Ans.108(A)

Ans.109(B)

Ans.110(D)
Ans.111(C)

Ans.112(D)

Ans.113(D)
Ans.114(A)

Ans.115(D)

Ans.116(B)
Ans.117(A)

Ans.118(D)
Ans.119(A)
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BF B! AEA & forw URd s A Suarh |1 a8 34 oF
P FARSH UeH Bl 8§ ol 39 fovg & wf x@d §
Rrgror wgrIaT gf¥wa sayRoma SR ey faart &t
Az H Iuantt €1 fRigor Tgrar & ST § Ak
B BI oReRd I I B

grur T B (3rgHe) el @t ok ¥ afia
ufdegdl &1 T UbR g die faareff 38 o
FHIRRBA B 37D o | TURAY, §H HE Tbd & [ O
aﬁnﬁmﬁ&mﬁﬂﬁ?ﬁam%

TH dHfUd IR PR $I axg § Had & guIfad
mﬁﬁ%lwaﬁﬁuwﬁwmﬁﬁ
T& 3 ITR BT TG AT T T PR DT a3
ﬁaﬁww-mwaﬁm%wﬁw
S gl

TS T Bl SO Tl SR &A1 P STIR IR BT
et firerdr 3 g 7o § vfafea sreqa= o) fadwar g1
g § Tfee &’ 9 Pad eaew gidar § s
RS =R | guTEt Hf 8 Tehar g1 3fg 3R BH &
gafgere & ¥ 3ifie gy Bid 1 BE B S
YRS SR H AR TR AT 3R a1 A1 T Wd
Y BT ST T & | AR Bl F IR A $S
RO BT SR F Teqy § THT 3R TRl &F sod
BIdl 2 198 AR TUHT H gHR) Yedl BRdl g

5 voR T fifercge = I Fufivd H39 3 ugd 39!
TR B Upfa, UHR SR AT B uar T & forg Aeh
o1 e Sl I UBR J forar 8 SI & e Riged
3 OE B! HIEEAT 3R HHNRGT BT Gl T P forg
Farfe wderor an fbar 81 gud, ST gRyfY SR Bl
F TSI Pl TR g1 Aab TR0 AEES TR
TP & |

d¢ HHAET & YR, "UISuHH, f[avd a%] &1 Fafud
w%ﬁhﬁaﬁif@rﬁwaﬁqﬂmémﬁw
o mar 31" ureaal @1 o Faa e vt B
faenera & UgIu MY & Afes 3U rudl &1 wwHadl
et § S T BT ol | RIS oI Tl e fafafeat
& 1O Q U HRdl B

HfeTa Ffeat # A iR geid-ddi gRT fhT 7T A9
Ffeat wa €1 T8 @/ T § % Aue B RS R
Yafugl &1 710 R U a1 SUel SRR g gl

fReor & o TR §; Yd-Ufehd, TRER Fadid SR URe-
iy e ¥ U9 B ¥ Usd o o fafafat ot
TIGHT &7 STt & 3R P 3@ & fofw aof &t ot 8,
3I9 fReror & gd-afehg aR0T H @1 S Wbl 51 THAT
U6 A1 R1&07 &7 Yd-afoha =Ru1 §1 g 39 Ffda
fafy & I HRaAT B

1/7 1 HTaGH G&AT = 7

TP JHDIU =900

3YfE,2 1/3 HDIUN = 7/3x900 = 2100
67892§4ﬁm%mmﬁsmmmm
B

ST g {5t 3 T IRdfds A BT 2|

T 8" T oIl 1d A 8 B

3T g9 8 UT BiaT 21 TgT 8 BT SIdiig A B

50904988

T UY D] Tee! 86 DA P o, Tg U U Bl 100
[0 IR GRHAd Pl ger gl

qlug 210, 105,126 8 S|

1 S Ul T T T 21 8,

e IR 0.21 B

1 dfex= 1000 fieficfier

450 forefiefier + (x) feficiex =1000 fAehcex

x) firefiefier= 1000 fielieiter -450 e

= 550

PUS P 15 WS S P fo1U 48 Hiex HUS B oRed g
U U< & oY MTIRTH HUST = 48/15=3.2m

T 587689 H 7 &1 H1g HH =7

(E3T1 587689 H 7 BT 31T AF) +3 =7+3=10

TA U NS 6 +4 =10
fire g 36 +38 =74

Ans.120(A)

Ans.121(C)

Ans.122(D)

Ans.123(B)

Ans.124(B)

Ans.125(C)
Ans.126(A)
Ans.127(B)

Ans.128(B)

Ans.129(C)

Ans.130(D)

Ans.131(B)

Ans.132(C)

Ans.133(B)

Ans.134(A)
Ans.135(D)

Ans.136(A)

Ans.137(A)

Ans.138(C)

Ans.139(B)

Ans.140(C)
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e 60 a1 oY §, 3T fiFe § 60 TeTd

(74 - 60 = 14 fiFe) AR G & 1 WS
(10+1=117%0) ..

3t AR 11:14 a9 IoaT B

AAfRA R, 120 . =1/4 T

3, A W, 1920 5. 1.=1920/(4x120) =4 T}
fArdle & Rigid & w1 T § % te @_a verf o
Td U IR W SR P SR T g3 9 IWR &
TR 59 B YR & RIS T 8|

SN T UgdT 1 Sl 8 & ST Sulf &1 v
®Y g, 3R FEANTS BT Ufehard SHeif &b W& & Rigia
& A §1 9% maae § & S et fffa o Ty
EREARSIE: G R
S B AFG SHRIPT Yoreh (s) IHE fpawm
am g1 1795 ¥ ugeht IR 5 & fgeH & foig W ur
P T U SUHCR & U | uRHifd far war um|

3 9eP1g Ydl & g TH A 99 B GID 1T I el

ST 8|
TR JigaTdh! SI IHTE mol / m3 Bl

fafa & yerr Bt 1 3.00 x 108 m /s &

3| & gW: U 91as ¥ g8+ aral faggd 4RT &1 94
Bﬂ%ﬁﬁwaﬁ@mw%@ﬁﬁ&nﬁmﬁw@m%
BIRIGRsd UHd & ©0 B g I FHoll &I gadeHl &
vaTe & URakd B3 & Y UR SIRTel BT ITnT
P fIggd fed IO FA & U Bicdifced &
T 3t fafd & T F w1 e 21 9R 97 d &

UST A UTE B IATGT Bd & o Iuam
ﬁmﬁ%enwm P =t B & o foear o
Hehdl gl

fefaraed ® 1 UPR & AT a6d 21 d 3AdEH 3R
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gﬁ'—r
|

T 3BT F PIS B MICR Hg1 STl § Kb Tg b
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e @ felt @ Tag A ol g SR AT @@
BREGRY Bidl 8

PR Fetbe Taonyftie =0 I g & ga Srar 7 v
THl PR 2+ adl 8, POd sffdeRgd 3ufds
SR Bt § R I8 WRadAfie BT 81 HTR Tebe &
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R tRifew Thrs ok ¢ TumaHl &1 U Sy Oid &
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